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Topic:- Child Development & Pedagogy (CDP)

1) Who among these psychologists have developed a theory of personality based on 2 dimensions:
introvertion and extrovertion? / 39 AT & A fram 2 smamY s ik afidE & smur w®
HfRIa 1 U Risia e far 3:2

1. Sigmund Freud/ f8v#s Hras

2. Carl Jung/ Hlol 'ﬂ'JT

3. Erich From/ TR waT
4. Hans Eysenck/ &8 388 ®

Correct Answer :-

« Hans Eysenck/ &8 358®

2) The full form of SEN is . / SEN &1 quf =1 Bl
1. Special emotional negotiation / '\'{ﬁ‘\’lﬁ AR [AmfATee
2. Social education needs / TR TIDHIA 1€

3. Special educational needs / TR TbH R A1gH

4, Special and exceptional needs / = 3R TRIRAEd -ﬂs\\H

Correct Answer :-

« Social education needs / T=Id W&FY Bt

3) The need for child-centered education has increased mainly because: / qTd-bisd RU&m
ATIgHdl E&Ia: g SR J 9¢ T 8:

1. Parents have no time for their children. / FTAT-TUAT & U 310t gl o [olT THIT Al &
2. Parents are less qualified. / ATAT-TUAT et T §
3. Teachers have better qualification. / TT&TerT T SEAX JTIAT &



4. Teachers are more equipped to deal with overall development. / fRT&Tch ET{UI{ frra & forw 1fa®
ﬂﬂ SoTd %l
Correct Answer :-

« Teachers are more equipped to deal with overall development. / fRT&Tch ET{UI{ frra & forw 1fa®

gatsad gl

4) People who are categorized on the basis of economic condition are known as belonging to a

particular ./ ToreT @t &6t 3 Reufar & mum wv gefiera fram sirar @ 3¢ v ey
¥ waftra w9 & ST e

1. Ethnic group / TIfa® qq
2. Religion / T

3. Class / a7

4. Caste / STTfdl

Correct Answer :-

e Class /gdT

5) Perception of a particular method of teaching is different among learners because: / f¥&Tor &t

T ey ygufa it o fenfdat & @i e § F2ifF
1. they do not want to learn. / & EGT %] ITed ¢
2. they don’t like the topic. / 3¢ w3 I UHe el &

3. perception is dependent on the environment learners are accustomed to. / YIRUTI Rrenfdat &

TTeRoT W A9 &, o 3T &
4. some of them do not like the teacher. / 38 & S f187eh o1 gde el A &l

Correct Answer :-

« perception is dependent on the environment learners are accustomed to. / €Ol Rremfdat &

gaTaRoT oY fA9R &, f5ad 3 &1

6) What is the primary change that occurs during puberty? / dtae & gR1eT g1t arerr wrafA=+
Rade 7T §?

1. Psychological maturity / HATd=TIeh TRAFTAT



2. Social maturity / HTHTTS TRGeFIAT
3. Cognitive maturity / H=ITATcHD TRUFIAT
4. Sexual maturity / JleT TRUFAT

Correct Answer :-

« Sexual maturity / it TRUFaT

7) At what age does the newborn recognize the mother’s voice? / fh¥ 3& H dAged faﬁa; Ardr
TATS FY GgATTAT 82

1. At birth / ST &

2. At three months / I HI U
3. At six months / &: ZF@?T l°E§

4. At nine months / &} HABIA UT

Correct Answer :-

« Atbirth / SITH &

8) Who was a development theorist of the mid-twentieth century who is best known for his
specific and detailed theory of children’s moral development? / firadt erarsdy & Ay H v
e RiguiasR Fla a1 Y s=at F Afas e & sre ffdse 3k g Rgua & e s
AT 8?2

1. Lawrence Kohlberg / Sli{E PlgoTadT
2. Vygotsky / aTSIMcE<hr
3. Piaget / TOmat

4. Erikson / 3RepdA

Correct Answer :-

« Lawrence Kohlberg / IR PIgcTad]

9) Who proposed the “Law of Effect”? / fraa ‘g311a &1 fagsr gfaarfea frar?
1. Sternberg / T&AGI

2. Fromm / hIH



3. Thorndike / ATSISH
4. Bandura / ET'U§TF

Correct Answer :-

« Thorndike / ATISBH

10) Who developed the first intelligence test? / 9goIT g?."ﬁ'ﬂ?ﬂ qdYeTor (2%F¢) fhas Awfaa
foram?

1. Binet and Vernon / f&eie 31k a=i1

2. Binet and Simon / [¥aie 3R &&=

3. Goddard and Terman / T3S 3R T

4. Goddard and Wechsler / 3M3TS 3R dader

Correct Answer :-

« Binet and Simon / faae 31k A=

11) Preprimary education in India carried out through Anganwadi Centres falls under the
./ AR H HTeTars) Fal F ATeTH T & 1 arelt qd-yrafares e F
3ferate ATl 1

1. Ministry of Social Justice and Empowerment / ATHTToh =31 3R ATAwRAT F101d

2. Ministry of Health and Family Welfare / TaT€2T 3R URAR HedT0T HAT
3. Ministry of Women and Child Development / EFI'%?T 3R arer faera AT

4. Ministry of Human Resource Development / HTTd AT TARTT HAT

Correct Answer :-

« Ministry of Women and Child Development / TFI'@HT 3R areT faerg AT
12) Critical thinking is an aspect of: / 3geT IEGG] ﬁ'iF[H' Cales 11'3'6[\%'

1. Bias / U&dId

2. Reasoning / G

3. Belief / fasma



4. Emotion / ATIT

Correct Answer :-

« Reasoning /

13) The judgement of the quality of teaching depends on: / fr&Tor $¥ [oTaT T faoir A )
ICERERGIEE

1. Developing a relationship / a4l &Y [IRFAT e T

2. Attainment of information / STTeTehTRT &Y UTIT U

3. Discipline / 3JTHA U

4. Overall development of student / BTaT & THIT fIhrT TX

Correct Answer :-

« Overall development of student / ST3T & T fIhrT T

14) The abbreviated term ADHD denotes: / Gface Tsg ADHD (THUwsY) fAa &I g2Tar §:
1. Attention Deficit Hypersensitivity Disorder / €T 31HTd 3ifaddgAiTerdr [daR

2. Attention Deficit Hyperactivity Disorder / €Tl 3IHTd AfehddT [ddR

3. Active Deficit Hyperactivity Disorder / Efohd 3787 Gfehaar faarR

4. Aggression Deficit Hyperactivity Disorder/ 3TTehTHehdT 3THTT TfhTdT TAdR

Correct Answer :-
. Attention Deficit Hyperactivity Disorder / €Tl 3THTd AIhIAT fahR

15) Which one of the following is not an internal factor of attention? / PRf@a A F T
&1 (3TTYTT) T Teh HTARNF FRF ABl 82

1. Interest / ¥

2. Intensity / diterdl

3. Mind set / Jd YRUT (ASS <)
4. Motives / OOT

Correct Answer :-



« Intensity / dtgar

16) Which of the following factors did Kohlberg focus on in his theory of morality? / Higeraar
9+t Afdewar & Rigua # Frafaf@a st & & e 91 eare e fmar?

1. Family influences / UTRAR Udcd
2. Cognitive development / =TT Taehre

3. Culture / QW-_CE%

4. Gender differences / Tol9T A

Correct Answer :-

« Cognitive development / ST TcHD [ehTd

17) Which of the following is not an objective of Continuous and Comprehensive Evaluation? /

farafaf@a & & 71 §ad va SqT9F HeATHeT FT 35T i 2
1. Plan teaching-learning situations. / f1&T0T-31f&re1eT REUfaat &1 Arerar IR & |

2. Communicate the child’s progress to different stakeholders. / =2 &Y yarfet &l Tafdieet fReaarat
Y AT |

3. Map changes in the child’s learning and development. / ¥ &b 3TQITH 3R faeprg & uRadaat &t
AT TATT |

4. Inculcate fear in the minds of pupils, so that they are able to perform better. / ERIPRICE:CE: KR
e T, ATfeh I dE UGN & Heb |

Correct Answer :-

« Inculcate fear in the minds of pupils, so that they are able to perform better. / ERIPRICE:CE: KR
e T, ATfeh I dE UGN & Heb |

18) Which of the following is not a risk factor for drug use that is directly attributed to parents?
/

fmfaf@a & ¥ Fia 91 397 3y & v NFA FRS 71 ¢ T RvaAE-RaT @ ® o a
FTRER S SAA?

1. Childhood negligence / STeIdEAT ATURATR]

2. Abuse / E,:cﬁagll
3. Peer rejection / Tehalt ITEAThIOT



4. Genetic inheritance / Bﬂﬁﬂf‘\ﬁ?ﬁ Taad

Correct Answer :-

« Peer rejection / TghHT ITEATHIOT

19) A child realizes that a four-legged animal that neighs cannot fit into her existing schema of
‘dog’. What process will she undertake to fit this new information into her schemas? / T& ¥Ta

1 A el § o TR W are Sera, St & Rerfeearan 8, g & #lofer 3R & fve 7€ & aehar
21 39 7 AP ) 37 ITHR A e FI & v ag Fia @ wfiwar sro=mean?

1. Disequilibration / 3THcelel
2. Accommodation / JHATATST
3. Assimilation / TcHATd

4. Homeostasis / IARUfT

Correct Answer :-

« Accommodation / GHATIATSA

20) A child finds it hard to recall the Hindi letters he learnt for today’s exam because of the
Kannada exam he wrote yesterday. What is this phenomenon known as? / & <d I 31Tl $r

T iaT & fore are 3 o fRY 31aTRY )Y TAOT FXAT 3 F gaRT Fel fo@ T Feets Gt F FROT
HTST 91T &1 S TAT ) FhH AT § FTAT ST &2

1. Retroactive interference / C[Gﬂ'ﬂ'@ ARY
2. Retrograde interference / GfcIaTaHT 3TaRTeT
3. Anterograde interference / 37T AR
4. Proactive interference / 3-17111333@ Y

Correct Answer :-

o Proactive interference / 34‘«1117-131@ Y

21) According to Vygotsky, child’s language and thought develop . | MNP &
IR, T Bt UTT SR faarR ol o &

1. independently of each other, then merge / Tch q\{-lj\ O TIdT BT 16, H 39T H AlFATord & ST
3




2. independently of each other / Tch W q Tady

3. universally across the culture / FH HERTIAT U FATHAAT &
4. together as child grows / = & fa®H™ & Y

Correct Answer :-

« independently of each other, then merge / Th q\ai ¥ TIdd s\ldn{ gl & 39y H giFAfea ?-)f S

3

22) Parents who have a lot of rules but support their children to follow the rules, are
adhering to ./ <t Arar-fueT sga R Frru s f afra sA sl B e T ured A &
R TemaT AT &7 TR0 &3d 3

1. Uninvolved Parenting / 31ag UTeled-UIVOT

2. Permissive Parenting / Hﬂﬂﬂ?@ﬁ qTeld-GIyoT

3. Authoritative Parenting / T dh TTelc-TIVOT (37 yiiefea tﬁ'ﬁ'ﬂ)

4. Authoritarian Parenting / 3T RATE! UTell-GIYUT (3TATRER 37T W)

Correct Answer :-

« Authoritative Parenting / 3T UTell-qraoT (AR fea R

23) is the desire to act and move towards a goal. / PTd B 3R
TP T Bt 3R 9+ Bt 30T 8

1. Perseverance / €adl
2. Valour / 9TgH
3. Motivation / OOT

4. Grit / I

Correct Answer :-

« Motivation / UITTT

24) Which of the following theorists emphasizes the importance of categorization in the

learning process? / fAufefad Rigider & A 19 uftr Y ufpar & arffeor & wegw wR =R 3
8

1. Kohler / PI&X



2. Bandura / EE:—',RT

3. Bruner /@ei}
4. Pavlov / Odqrd

Correct Answer :-

« Bruner /@eX

25) Problem-based learning in science encourages learners’ scientific habits of mind. Which
of these options best describes some of the guidelines for problem-based learning?/ fag= #

TaT-3mUTid Rrem, RienRia) & 79 31 agfe sredl &) Nieaed $3dt 81 599 9 &9 91 fdepe
TquET-3meTia Rigia We & o feznf=dzn &1 3R aui= wvar g2

1. Reading, writing, listening/ U&=, fer@eT, Feial

2. Thinking up ideas, using multimedia, making variables/ FeCIFHI ST T STJTIT Tich, T TATHI
IBEIRCARGEGI

3. Asking questions, constructing a hypothesis, repeated trials/ U4 &I, Udh UReHeHT o1 fAmfor hHI,
IR-IR TRI&01 AT

4. Discussions, a fixed number of trials, cooperative learning/ T, Ffya T o uieror, TgHRT fRreor

Correct Answer :-

» Asking questions, constructing a hypothesis, repeated trials/ U4 S, Th g o1 fAafor HHI,
TR-SR U&7 DAl

26) The apparatus used for measuring the span of attention is ./ Sray fawgfa (w9
3P 3R DI AT & fore uga fbar = aran Iuaor gl

1. Tachistoscope / ¢TRIFERPIT
2. Microscope / ATSShIEHIT

3. Telescope / Tl ADIT

4. Epidiascope / uﬁ%'amﬂﬁu

Correct Answer :-

« Tachistoscope / SRITCIERIT

27) Id, ego, superego is put forth by: / U89, 3¢, W () 7 & ¥ fFus gr1 wifua g

T2



1. Maslow / ATESAT
2. Pavlov / Udelid

3. Jung/'ﬂ'dT

4. Freud / WIIs

Correct Answer :-

e Freud / BIIs

28) The Expectancy Theory of motivation states that: / 0N & Rigia # gar g f&:

1. People are motivated to do things due to external rewards. / TR¥HR ¥ fad B B & forg URA gial
gl
2. There is a hierarchy of needs in each individual. / Ud® Afad H SRedl &l Udh UaldhH E?I?IT %’I

3. There is a desire in a person to become what he is capable of becoming. / T3l Ffad H a8 94 &1

18Il § St 98 &4 B ¥em g
4. Motivation depends on the desirability of the outcome. / 3fERUT GRUMH o1 33T TR AR Har g1

Correct Answer :-

« Motivation depends on the desirability of the outcome. / 3ITORUT TRUMH &1 331 IR R Har g1

29) Teaching in an inclusive classroom is a challenge for teachers and demands

certain . | THTa=A wem # yer, Rierel & e v g 7 ok 39w Aifda = v
) P ATITYHAT 2|

1. Habits / Ugfdl
2. Talent / UfaHT
3. Expertise / Q&ldl

4. Practice / ¥

Correct Answer :-

o Expertise / Q&dI

30) is found to be effective at achieving conceptual change. /

F 3R IRadT yTod FIF A T 91T T=AT B

1. Reading textual materials/ UTS 3T ¢TI JOTTT



2. Labs / YIRS
3. Discovery learning / igﬂiﬁail 3TITH

4. Detecting an anomaly / TIGITT &7 TAT ST

Correct Answer :-

« Detecting an anomaly / TIGITT &7 TAT ST

Topic:- General Hindi (L1GH)

1) & Qo= & FAT §EAl, AT A§T A IgT A

AEA FT ATAA WY TAT, §A YA I AGT qS

3T ST 3o Fl, TG TAHT a6 o 373l

T FEd @ @ A, IN JA FA AT, FF qA

5 3 T2 7q T q@), @ Goen ¢ sufav 9@

S ¥ 3¥H Fo AT 79, 97 A 39w Fo R @

& a1 Hgl, & a1 G, $ &F IR R Fo Av

&% W FE-§:F F °el F, §7 0F o9 ¥ R a9

g st i gfaar A, Wees qee @R T

g & faemel X @, A IWhAdT FT AR T

T A Med, A MWed, S s T g AT TF

§ §Od g9 TS Ig1, WU AT el FR T

3 39T HR W 4, AEE W T A

B T 99 & 3R T, §7 AU aeU A3 T

3UdFd YA ) UG Al S A dTel G F e IATI
YReT: ‘§A dratal Y FAT FEAT ¥ FIA FT FAT A 87
1. 30w et T ¥l

2.9 GAA Bl H S B

3. §@-gW &I AW HI$ GHTG & TSl

4.7 W T #H AXT T o

Correct Answer :-



2) §A 9= Y F4T gEY, AT TET FA q@I qA
AEN FT ITAH WY T, A U 33 gl T

T FAFT oo Fofl, HY TrHT qF T ref

T FEd @ @ AT, IN JA FH AT, FFl T

e 3R Td? 79 F 1), 9 T § sufaw T
S ¥ 3HA F6 AT TQ, o F Ivar Fo Qe @
& a1 Fél, & a7 g, TS &9 A BT Fo Ao
&% W FE-3:F F °el F, §7 0F o9 ¥ R 4@
&\ s 1 gfaar A, Toee e WR Td

FH UF fAUE 3T @, o JWEAAT FT AR TS

&F A Ied, oA IR, St s FT oI AT TH
& §9d §Ud ST Tl ol Y Al §R T

3T 39T HR T FA1, AHEE E Fhe arer

& T 99 & 3R @Y, §H HUA Toud dis g
3TdFd UG N TGH AT S e q G FT 3ca} a3l
yee: FY & AR dae FJ @ §7

1. S R &% AR BT |

2. 5 V-4 T B

3.9 & B # ALT & &l

4. gAA g@ A I W B

Correct Answer :-

« S W E # AT T

3) & A=l T FAT gF), AT F@T FA qEI A
AEN FT A WY TN, A 4T 33 el T
T FAT oo Fofl, HY TTa qF T ref

T Fgd @ @ AT, IN JA FH AT, FF T

e 3R Td? 79 F 1), 9 T § sufaw T
S ¥ 3HA F6 AT TQ, o F I3var Fo Qe @

& a1 Fél, & a1d g, Fo §8 A BT Fo v



&F W FE-§:F F °l F, §7 0F o9 ¥ R 9@

g st i gfaar A, Wees qee @R T

T F fAUE 3T W, o JWEAAT FT AR TS

g A e, AT IR, St s F AR G TF
§H gua gua 3T Jel, wioit A arelt R T

3T 39T IR WET FAT, HTETE E SR arer

& T 99 & IR T, e AUR S dis T

3YYFA ISIIT HY TgHT Al & AT dTel G FT el I3Vl
weeT: e AT g@ AR g@ ol ¥ ge W 9 @2
1. sr-am i

2. BhpY IR A WP

3. a1 Pl e

4, e A dE

Correct Answer :-

. TP AR AR TP

4) & Qo T FAT gEA, IS FgT FA IgT T
HEA HT @A Y TA, §H YA 33 e T

3T ST 3o FHl, ATG TAHT a6 o 373

T FEd @ @ AT, IN JA FA AT, FF T

e 3R TA? A9 A (B, TH T § FEfAC T
S ¥ 3HA F6 AT 7@, o F I39er Fo Qe o
& a1 Fl, & a1d G, Fo §8 A BT 3o A
&F W FE-§:F F °l F, §7 0F o9 ¥ R 9@
& Prawat 1 gf &, woeE g WIR 93

g & faemel X @, A IWhAdT FT AR T

g A e, AT IR, St s F AR @ TF
4 §Ud §Hq 3T Tgl, 9o Y el gR T

3 9T HR W 41, AEE W T A

& T 99 & IR T, & AUR Seud dis 9
3YYFA ISIIT HY TG Al B AT dTel G FT el I3V



T AT # i arer 93 et & Fur o9 A IR SAE|r?
1. 3T T

2. 9&T HIEG &

3. 9HS Pl

4. QIEAT T

Correct Answer :-

5) & &a= Y FAT gEdl, IS F§T FA I T
HEA HT @A TG TA, §H YA 33 e T

3T ST 3o FHl, ATG TAHT a6 Tor 373

T FEd @ @ A, IN JA FH AT, FF T

e 3R TA? AT A (B, TW T § FEfAC T
S ¥ 3HA F6 AT TQ, o F I39er Fo Qe o
& a1 Fl, & a1d G, Fo §8 A BT 3o A
&F W FE-§:F F °l F, §7 0F o9 ¥ R a7
g Prawat 1 gf &, woeE g WIR 93

T F fAUE 3T W, o JWEAAT FT AR TS

g A e, AT IR, St s F AR @ TF
T §Ud §9d TS Tel, WO A TSl FR qS

3T 39T IR WET FAT, HTETE E SR arer

& T 99 & IR T, T AUR SeUe dis T
3YYFA ISIIT Y TgHT Al & ST dTel G FT el IRV
WeeT: §H UH fAwn €@ 3 9U F F41 aId §?
1.3 § PIE e

2. %6 W) 3fde s

3. 33 &1 fARmed

4. A H FTedr

Correct Answer :-

. T W AfAc a1



6) & Q= HT FAT §EAl, TS FGT HA g1 A

FEA T ITAHA W TAT, §H YA I3 F@ q

T FH Sead Fefl, Y T a6 9o el

T Fgd @ @ AT, IN JA FH AT, FFI T

fFe 3T T2 A9 ¥ OB, T@ o ¢ safav 99

I & 3FH F6 AT A, T F 39w Fo Rw TS

& a1 Fgl, & a1 G, I £ AR W Fo Av

oF W GE-g:@ F Hel #), §7 0F 019 & Rw =

& BEa 1 gfaar A, Toee e WR Td

A T AUl 3T W, o JAHedr F AT T

& A W, J9AE W, St T W gaR AT TH

T &8 g0a TS T, ol A ATl gR g

T YT AR W 24, AHEE W@ FFA are

& T 99 & 3R T, §H WA Teud dis TS

39T UEIIT H TGH AT IF A qT WA FT el qaq1svl
e Sftaet H AFA F9 gifawrs aifad & wadr 872
1. ael ST Y TH AT H W 39791 & &

2. Badl S 3T gIRT HT FAAH 31T ¥

3. ddl S AT g & el & T gad

4. 30 |

Correct Answer :-

7) & Qa= Y F41 §EAl, TS F@T FA I aA
FEA T ITAHA W TAT, §H YA 3T @l q
T FH Sead Fefl, Y T q§ 9o Il

T Fgd @ @ AT, IN JA FH AT, FF T

fFe 3T T2 A9 ¥ OB, T@ goe ¢ safav 99
I & 3FH F6 AT A, S F 39w Fo Rw T
& ot Fgl, & a1 o, I £ AR R Fo Av



&F W FE-§:F F °l F, §7 0F o9 ¥ R 9@

g st i gfaar A, Wees qee @R T

T F fAUE 3T W, o JWEAAT FT AR TS

g A e, AT IR, St s F AR G TF

§H gua gua 3T Jel, wioit A arelt R T

3T 39T IR WET FAT, HTETE E SR arer

& T 99 & IR T, e AUR S dis T

3YYFA ISIIT HY TgHT Al & AT dTel G FT el I3Vl
vesT: e & T AR & 96 A% NS AT 7T w872
1. 91d

2. feter

3. 9%

4, AHATH

Correct Answer :-

8) & Al FT FAT gEl, IS F§T FA I TA
HEA HT @A Y TA, §H YA 33 e T

3T ST 3o FHl, ATG TAHT a6 o 373

T FEd @ @ AT, IN JA FA AT, FF T

e 3R TA? A9 A (B, TH T § FEfAC T
S ¥ 3HA F6 AT 7@, o F I39er Fo Qe o
& a1 Fl, & a1d G, Fo §8 A BT 3o A
&F W FE-§:F F °l F, §7 0F o9 ¥ R 9@
& Prawat 1 gf &, woeE g WIR 93

g & faemel X @, A IWhAdT FT AR T

g A e, AT IR, St s F AR @ TF
4 §Ud §Hq 3T Tgl, 9o Y el gR T

3 9T HR W 41, AEE W T A

& T 99 & IR T, & AUR Seud dis 9
3YYFA ISIIT HY TG Al B AT dTel G FT el I3V



yee: g FE W FE W Tgad §7
1. G & e
2. 68 fr e
3. gt T e

4, Sodtd HT &

Correct Answer :-

e Sooid HT &

9) & ol T FAT gEl, ST FGT FA I T
HEA HT @A TG TA, §H YA 33 e T

3T ST 3o FHl, ATG TAHT a6 Tor 373

T FEd @ @ A, IN JA FH AT, FF T

e 3R TA? AT A (B, TW T § FEfAC T
S ¥ 3HA F6 AT TQ, o F I39er Fo Qe o
& a1 Fl, & a1d G, Fo §8 A BT 3o A
&F W FE-§:F F °l F, §7 0F o9 ¥ R a7
& B i gfrn &, wows goe wR 9

T F fAUE 3T W, o JWEAAT FT AR TS

g A e, AT IR, St s F AR @ TF
T §Ud §9d TS Tel, WO A TSl FR qS

3T 39T IR WET FAT, HTETE E SR arer

& T 99 & IR T, T AUR SeUe dis T
3YYFA ISIIT Y TgHT Al B AT dTel G FT el IABTI
veeT: 9 FE A IS § ar R ¥ A2

1. 31 T RE

2. AGATT T aE
3. 9@l A aig
4, SEd 1 W e

Correct Answer :-



10) g damat A FAT gEA, AT YT HA T g
FEA T ITAA W TAT, §H YA I3 F@l q

T FH Sead Fefl, Y T q§ 9o el

T Fgd @ @ AT, IN JA FH AT, FFI T

fFe 3T T2 A9 ¥ OB, @ goe ¢ safav 99
I & 3FH F6 AT A, T F 39w Fo Rw TS
& ot Fgl, & a1 A, I £ AR R Fo Av
oF W GE-§:F F Hel ), §7 0F 09 & Re =
&H BEa 1 gfaar A, Toee e WR Td

T & AU 3T W, F FAEAAT F AR T

& A W, J9AE W, St T W AR AT TH
T €U §9d TS Jel, WIoi Y Sl FR q«

9 39T R T F, 6 E IS ae

& T 99 & 3R T, §H WA Teud dis TS
39T YT H TGH AT IF A q WA FT el qaA1svl
veeT: 36 YT #1 3R ofifwF Fame?

1. FAST-FEA

2. BIhIHEN

3. QAT-3IRTH

4. Srarat & g

Correct Answer :-

o St dr gEd

11) g daEt A F41 g, AT YT HA T g
FEA T ITAHA W TAT, §H YA I3 @l q
T FH Sead Fefl, Y T a6 9o el

T Fgd @ @ AT, IN JA FH AT, FF T

fFe 3T T2 A9 ¥ OB, @ goe ¢ safav 99
I & 3FH F6 AT A, S F 39w Fo Rw T

& aTer Fgl, & a1 o, I £ AR R Fo Av



&F I FE-§:F F °l F, §7 0F o9 ¥ R 9@
g st i gfaar #, Wees qee @R T

T F fAUE 3T W, o JWEAAT FT AR TS

g A e, AT IR, St s F AR W TF
§H gua gua 3T Jel, yioit f Al gR T

3T 39T IR WET FAT, HTETE E SR arer

& T 99 & IR T, e AUR S dis T
3YYFA ISIIT Y TgHT Al & AT dTel G FT el IRV
weaT: dramal w1 R a1a @1 Fr € @ear?

1. TR hAT

2. ol

3.59H ¥ Pl

4. Hellel

Correct Answer :-

12) & damt Y FAT g, AT YT HA T@T do
HECA HT @A TG TA, §H YA 33 e T

3T ST 3o FHl, TG TAFT a6 o 373

T FEd @ @ A, IN JA F AT, FF T

e 3R Ta? AT A (B, TW T § HfAC T
S ¥ 3HA F6 AT 7@, o F I39er Fo Qe o
& a1 Fél, & a1d F, Fo §8 A BT 3o A
&F W FE-§:F F °l F, §7 0F o9 ¥ R 9@
g st i gfaar A, Wees qee @R T

g & faemel X @, A IWhAdT FT AR T

g A e, A IR, St s F AR A TF
4 §Ud §HQ 3T eI, 9o Y el g7 T

3 9T R W 41, AEE W T

& T 99 & IR T, & AUR Seud dis 9
3YYFA YSIIT Y TgHT Al & AT dTel G FT el IABTI



yeat: St dare @1 € 9 fnelt BrEwdr o ol = e @2
1. gd-glerd

2. FOAT-TAT

3. AR

4, TITOG WR

Correct Answer :-

13) & damt Y FAT g, AT YT HA TgT do

HEA HT A TG T, §H YA 33 e T

3T ST 3o FHl, TG TAHT a6 o 373

T FEd @ @ AT, IN JA F AT, FF T

e 3R TA? A9 A (B, TW T § EfAC T

S ¥ 3HA F6 AT TQ, o F I39er Fo Qe o

& a1 Fl, & a1d Fh, Fo §9 A BT 3o A

&F W FE-§:F F °l F, §7 0F o9 ¥ R o

g fra # gfrn §, wows goe wR 9

T F fAUE 3T W, o JWEAAT FT AR TS

g A e, A IR, St s F AR A TF

§H gua gua 3T Jel, wioit A arelt R T

3T 39T IR WET FAT, HTETE E SR arer

& T 99 & IR T, T AUR SeUe dis T

3YYFA ISIIT Y TgHT Al B AT dTel G FT el IABTI
YT $W Faar & HgaR Bt st fyamw F = FwA w1 A Siaht §2
1. Tad & &l

2. 91 A T

3. 3IRTHA A B

4. %h Tl Pl

Correct Answer :-

o ToAd B &



14) g& aEt A FA1 gEA, AT YT HA Tl g

FEA T ITAA W TAT, §H YA I3 F@l q

T FH Sead Fefl, Y T q§ 9o el

T Fgd @ @ AT, IN JA FH AT, FFI T

fFe 3T T2 A9 ¥ OB, @ goe ¢ safav 99

I & 3FH F6 AT A, T F 39w Fo Rw TS

& ot Fgl, & a1 A, I £ AR R Fo Av

oF W GE-§:F F Hel ), §7 0F 09 & Re =

&H BEa 1 gfaar A, Toee e WR Td

FH F AU 3T €W, o JWEAAT FT AR TS

& A W, J9AE W, St T W AR AT TH

§ §9d g9 TS Tl ol Y Al §R A

3T 39 HR T F41, EE @ Fh arer

& T 99 & 3R T, §H WA Teud dis TS

39T YT H TGH AT IF A q WA FT el qaA1svl
ges: Y AT dae gid § § §ER & FUT FId WA 87
1. HTA-IA T &

2. 3 FAAH P B

3. gIdEd A &

4.35 dd ¥ 3 &d B

Correct Answer :-

15) g damt A FA1 g, AT YT HA T g
FEA T ITAHA W TAT, §H YA I3 @l q
T FH Sead Fefl, Y T a6 9o el

T Fgd @ @ AT, IN JA FH AT, FF T

fFe 3T T2 A9 ¥ OB, @ goe ¢ safav 99
I & 3FH F6 AT A, S F 39w Fo Rw T

& aTer Fgl, & a1 o, I £ AR R Fo Av



&F I FE-§:F F °l F, §7 0F o9 ¥ R 9@

& frat  gr &, wows goe wR 9

T F fAUE 3T W, o JWEAAT FT AR TS

g A e, AT IR, St s F AR W TF

T §Ud §9d TS Tel, WIoi Y Sl FR A

T AT IR W F, IEE E TFA

T @Y 99 & 3R WY, & IR Seue dis g

3YYFA ISIIT Y TgHT Al & AT dTel G FT el IRV
TeT: FfF & HI A A Foarw AR T F Y I F 6 AT FAT FET 82
1. fre Seomd &1 3R fvE g@ &1 Ul ¥l

2. 388 :W Foohl Qe &l

3.389 Sl ALl garT ¥

4. 308 R A& I gl

Correct Answer :-

- Thea soomrw &1 3R fave g@ @ s B

16) et oft wurer & fafira snfdfe aass, enfife e, faftra wmars wuel, fafia epfaal ik wifaay &Y
e &) 39 JaTe ) fafaedar wed 81 afe fafyuansit ara fash ot g & fafie snfde qa, afife
e, faftm yrars wgl, fafte dwpfaal eiv sfaal &t et & 39 wae $t fafaear vgq €1 afe
fafgerarait ara 31 Y 919 Bt S A URA F JgR ITE0T 3R B T 8 Whar| HRa | A F am
Tt gRe1 4wt & A 9T dNT ¥Ed 8 | URd B §9RI HTHTE, S-S WTH UTH, S-S Uik 3R avE
TE Bt WPpd g@ P! et g1

TS fAUTe SR Torifa: S1fdT & witre fasra & Rigia & sraR ot Jad fbe glar @ a8t Rigr
Trar 8 | Al Y foier 381 & R enffer &0 & araat o gt 81 onfifer arae! 1 wuTer A Sar v U
g urar 81 3faerd A R Aes) Ierevur ¢ o enfiife wu & wud 7e 7 3nfife T U | FHwR ¢ W) e
forar | o saferd far Smar 31 aifes TaTeE ofR Wfd & Eidl IR UPITUSR $1aH 8 b | T fafaear
BT I TR gRoms i aral w® R oar 8, s Frafafad §: a8 59 a9 w AR o & & @ st
ITHIRS UgaH &1 {59 FU A dd 81 afe ahT 3= 3y &) faflRiy a=A @vre € ) 0 # gmnfore fafduar &t
T U G g1 a1 § | a1 fad THer ot /il 3 5 ave S U HRd 71 3 agen ot i w
maﬁﬁuﬁmﬁ%mﬁﬁwaﬁmﬁwmﬁwm%ammw
|

YRA & YT 3o & Garfas ot oifd sgawyt a1 A 39S AR TS &1 ST & ATYR W IR JYgI d alel
T AT fhY ot war 18 B 1% geondt aurer & it et <t dfesT awg dfiae & ary v Ut wnfa ar qof
a1 faRia g3 ot 39 919 W snmenia @ fr [t safea o1 w1 forwr winfar o gam 31 e gwa & uvma
F PRI R URA | 3T aTelt IRBRI $t IgRard! gl ot adtaa i 3 siftre ai snyfe Rign &1
BTAST 36M @ | 3P 3rarar Hifgar A ff U # SRewar A &1 w1 fear| 37 99 9ral 3 Ues g
NN H SRSl BaT BT THGPR B ¢dT1 TS TRUTH 39 3@ $i A 32 &1 I8 39 91d A Ul gerdT §
& ®¢ ¥R &t Aa1 IWR BT A I € &Y St o1 & 1 ¥ | el F &) vl ) Hr § WSier) S
AIpd BT RIS Haerd BT 31 3T WRd § AT & T g a1 $1 ufafifiica IReR # 3@ &Y fyear g1
$HIY G $§ TP ¢ [P YR Tl U | U didpad a1 38T 8



IUT TR F UgHR AR IR Y U= $T Ik Farsy|

UH: S & it fapr & Rigia & guR, g § #i4 fSier ¥ urar 82
1. 3 T &

2. 5 Taw Rhe &

3.3 GeR @

4. 3 FHAAR &

Correct Answer :-

. S ga8 e @

17) & W gurer & faft enffe aads, urftfer Tqera, fafie wmars wagt, fafte et eiw sfaay &t

Hiveift #Y 39 A Fi fafdear wea €1 afe fafgedarsi ad 3o it a1d F 9 @ YR A g% IS0 3R
BIS 781 81 Gpdl | HRA & g1 & AT 9t g1 4T o 41 are @l 384 81 HRd # gelRY HITY, 3ferT-
ST W T, SET-3ET GRS 3R e a8 B Tpfd ¢uq ! firadt 21

TR AU 3R e ST & Bt e ¥ Rigid & ogaR & ga4 five a1 @ a8 Ricr e
ITaT 81 agsEl B Rier veR & o enfifes w0 @ avadt aeeit gt 81 onfifes arast & ware ® San i e
gl urar 21 3faera A 3R Aes! Iarevu § o onfife wu | Wud e 7 onfife ¥ U | FHwR e W) e
forar | TaT saferd frar Smar o1 aifes TaTee ofiR wifd & Bidl WR UHIfUeR $1aw 8 G& | | fafaear
T Ao W gfomy i aral R FR w=ar 8, s FRafafee € 98 59 99 w Ak wwar @ & b soeh
TS UgaH &1 {59 FU A dd 81 afe @it 3 3y &) faflRiy a=a @ve € o) 3 # gmnfore fafauar &1
T U1 GiRhd g1 1T ¢ | et fadl Tger &t il B {6y avg A iR a8 | [Pt aem st uim w
mﬁﬁuﬁ%mﬁ%lﬁ%@wﬁmﬁwmﬁmm%ammw
|

YRT & YT 30t & garfas ot e sgawat a1 A 39 AR TS &1 ST & YR IR IR JYg1 H aler
a7 o7 | fHt 3t uar 1Y 3 6 oot gurer & St syt ot | A g dieq & w1y v Ut wnfa ar quf
T fapRyd g3 ot 39 919 W 3nmuia @ fr fpft safey &1 w1 forwy winfar o gam 81 3o gwa & uvTg
F HRUN AR URA & 3 ATl TRBRI B IgRATS e ot ggrad ifis J e anr snyfe Rigm &t
BIAST I3[ T | 30 3rarar Hifgar A ff U # WRewdr A &1 w1 fearl 39 99 9l 7 Ues g
AN W SIRE s dT haM T TH@R o a1 39 TR 39 3T &1 fird @ &1 U8 39 91d | udT 9adr 8
fr $¢ T & 391 IHR F GHA M & St Sl SIfd F 78T &1 HTS P g 91 B I H TSGR T &
AP ad BT AT Haad BT 81 3T HIRA H U & T g% ¥ 1 ufaf it TR # @A o1 frean 81
ZYfoIT g +g YPd § [P YR I8 AraA # U didpda 94 8T B

ST TR B UGH -1 T T ¥Y HT IR a3

wzA: faredt ware o fafira wnfa, enf oiiv enfifes wg & @i & o1 $gd 72
1. T faerE

2. AT I fafaedr

3. 3¥cgaEdT &1 fawa

4. GIATTSD AT

Correct Answer :-



18) Y it wurer A faftra enfifer aad, urftfer Tgera, fafie wrars wagl, fafte et eiw snfaal 9t

Mgt & 30 ware $t fafyuar wga €1 afe fafaeasi ar 3w 3t 19 Ft 9@ @ YR A g ITEI0T 3R
HIE T 81 ebdTl HRA A T & a1t it qReT 4T ) WA aTel @1 I8d & 1 HIRd § gOlR) WTaTY, 3re-
ST W UM, SHET-3E WD 3R aRE ave P! Tpfa 3@ &) et 31

TS fAuTe SR Torifa: S1fdT & witre fasra & Rigia & SgaR ot 999 fbe glar @ a8t Rigr @
grar 8 1 7wl Y foier 381 & i enffer &0 & aadt o gt 81 onfifer araw! 1 el A Sar v U
g urar 21 3faera A ¥ Awsl Iarevur 8 Formd snfife wu A wug e 7 anffer U | U=k ¢ W I
forar | TaT safer frar Smar 31 aif THTee SfiR WIfdd & Widl W UHIIU®R $1aw 8t Gd | JraTore fafaear
BT I TR TR i aral w® R oar @, s Frafafad §: a8 59 a9 w AR owar @ & @ sot
RIS Uga &1 f5a w0 & dd &1 afE @ 3= 3y &) faflkiy a=a @ & &) 31 # arnfore fafaear #t
T U1 GiREd §) SraT 8 1 el fad ayera 3t w3 {5 e 0w avd ¥ i aem S e w
mﬁﬁmﬁélmmwﬁmﬁwmﬁmm%?ﬁmmﬁw
|

YRT & YT 3 & Garfas ot ifd sgawyt a1 A 39 AR TS &1 ST & ATYR W IR JYgI J aler
a1 7| feft o var 8 @ fp e Turer # HAt et 01 AfFT gug Siam F 91y v R wifa ar qof
a1 fawfa g3 ot 39 a1 W snuta @ % foolt safea 1 o1 fpw wify o g 81 Sl gpwa & wura
F PRI R URA | 3T aTelt IRBRI Ft IgRard! fal ot adtaa it 3 siftre ai snyfe Rign &1
BRI 3T @ | 3d Sraral Hifgar 7 ot gure ¥ Snewdr bam &1 w19 fBar1 397 99 916l A fiss gu
AR A SIREwdT M T TH@R o a1 3% TR 3fe WA &1 frd @ &1 U 39 91d | vdT gddr 8
o T &9 AT SR T I oM B S S onfy F 98 ¥ v W ot B wwr A g S
AP BT 3T HaAd gidl 81 3T HRd H JHTS F T 8% & P Uit WeHR # ¢ $I fear g1
3T 9 ®g Tohd ¢ fb URd Tl arq o U didds 94 ¥eT 8

ST TR F UgHR A2 IR Y U= $T Ik Farsy|

uz: e U A weigd 99, e T & FAWR T W T BT 82
1. gz-fayror

2. 90 el

3. A

4, IR

Correct Answer :-

19) &t Wt gurer A faft enffe aad, urftfe Tqeray, fafie wrars wag!, fafte ot eiw snfaay 3t

et 3t 39 JaTe Ft fafdear wgd €1 afe fafauasi ara 331 @1 919 $t 9I- 91 YR A IgR ISIE0T 3R
BIS 81 81 GPdl | HRA & g1 & T gt g1 g o 41 are @i I8 &1 HRd # gelR] HINTY, 3ferT-
ST W T, SET-3ET GRS 3R dRE a8 B Tpfd ¢+ ! et 21

TS fAUTe SR Iorifa: S1fdT & it faera & Rigia & sgaR ot 999 fbe giar @ a8t Rigr @
Trar 8 1 7wl Y foier 381 & R onffer &0 & aadt s gt 21 enfifer araw! 1 e A Sar v U
g urar 21 3faerd A ¥ Awsl Iarevur § Formd snfife wu  wug e 7 anffer U | FHR 7[¢ W) A
forar | Tar saferd frar Smar 31 aifs TaTee ofiR wfdd & |idl WR UHIiUeR $1aw 8 G& | | fafaear
BT I R TR i 9l w® R wwar @, s el 8 a8 59 9 w AR owar @ & @ sot



TS UgaH &1 f5a FU A dd 81 afe ahT 3= 3y & fafRiy a=a @vra € ) 0 & gmnfore fafduar «t
T U iRp e 81 SraT 81 IedT el THer B |l $1 i ave @ 9w $ed ¥ e gy Y " w
ma&ﬁuﬁ%ﬁ%ﬁ%aﬁﬁmaﬁnﬁaﬁm&mﬂ%ﬁmm%ammﬁw

|

YR & U= 30t & garfae ot oifa sgawt g+ A 39 AR TS &1 ST & YR W IR JYg1 H aier
T T 5t ot war 181 3 1% goandt aurer & it syt <t dfe T awg diae & ary v Ot wnfa ar qof
T fapRyd g3 <t 59 919 WR nuTia @ o [t safea o1 971 forwy winfar o gam 31 Sieh gowa & uvma
F PRUT MR URA | AT qTel IRBRI B SeRard! et ot adtaa ouf¥re @ it ar snyfe Riam &1
BHIGI 3311 @ | 3@ Srarar Wifgar 7 ot gure # SeEwdr bam &1 w19 fHar) 39 99 a1l A fiss gu
AT # SITRe T Bam & 9@ R $R 3011 39 URRund o« 31 & fia ¥ 81 98 39 919 | udT IadT 8
5 o N T a1 IHY B WHA M & &) St Sifa &b 1) ¥ | THIS & g & D) I § el S &
AP dd BT 3Tl HAAd BdT 81 TS HIRA H HHIS & T g% ¥l 1 ufaf g TR # @4 &1 frean 21
[T g9 $E TPd & [P YR I AU # U didpda 94 8T 2

ST TR HI TSP AR U Y Y9 BT IR ad1s5¢|
U e et | A B Hgl SHa1 I firerar 82
1.3ma &

2. A A

3. qATST H

4. HEd H

Correct Answer :-

o AT H

20) fo=dt o T ® At snf¥fe aass, enfifer e, faftm wrars wugl, fafts Twpfaay sk sifoal

et 3 39 waTe Ft fafaear wea €1 afe fAfauarsi ard 3z @) a1a $t 9’ 9 YR A AgaR ISE0T 3R
B2 T 8 Tl HRA A R F T 1l 7o 4T ) WA aTel T X8d B | HIR § gOlR) HTSTY, 3ref-
ST W T, SET-3ET IR 3R aRE a8 Bl Gpid ¢E- ol fiad g1

T AU SR Ieifa: S1fd & it fas™ & Rigia & sgar ot gaw fbe giar g a8t Rigr
ITaT 81 ISl B RieT w8 & o onfifes w5 & arast st gidl 81 e aRaspt | TS | SaT I e
g urar 81 3faerd A 3R As) Ierevur ¢ o enfiife wu & Tud 7e 7 onfife T U | FHwR e W) I
a1 ¥ saferd faran siraT o1 aife e SR Wfe & Wil W UHIIUPR S1aH g G& | JTfore fafaemar
P e W gRomy i aral w® R w=ar 8, S Fafafea € 98 59 99 w Ak owar @ & v soeh
TS Uga &1 f5a w0 § dd &1 afE @ 3= 3y &) fafkiy a=a @ § &) 31 ® arnfore fafaear #t
T YT GG g1 11 § | a1 fad THer ot /il 3 5y ave S U HRd 7 | 3 aen o w9 w
mﬁﬁuﬁmmﬁlmﬁwﬁmﬁwmﬁmm%ammw
|

YRT & YT 30t & garfae ot wifa saawat a1 A 39 AR TS &1 ST & SR W IR JYg1 § gier
T T 5t ot war 181 3 1% goandt aurer & it et <t 1 dfeT awg dfiae & ary v Ut wnfa ar qof
w1 fapfid g3 ot 39 919 W snuia § o [t safea o1 971 forwy winfar o gam 31 Sieh gowa & g
F PRUT MR URA | A FTel IRBRI Bt IeRard! et @t adtaa e @ it a snyfe Riem &1
BHGI 3311 @ | 3% 3rarar Wifgar 7 oft gure # SRewdr bam &1 w19 fHar) 39 99 a1l A fiss gu
RN H SRSl BaT BT THGPR B ¢dT1 TS TRUTH 39 3@ $i f3d 32 &1 I8 39 91d A UdT gedl §
& &< ¥ &t A1 IWR BT AHA M € &Y St o1 & TE & | WISl F &) vl ) Hr § WSy A



AP BT TS AdAd BIdT g1 TS HIRd A FHIS P TTHT 8 T BT UfdfAtd IRPR A 3T &I fAraar g1
[T g #g YPd § [P YRd I8 4raA # U didpdd 94 8T B

STIE TR B UgHR 1 IR T YT BT I« AT
US: ISRAC! Hifaal 1 ISiad Sifre-a-3iftre anT fraer B 3o @ ?
1. gRFURH feTr

2. U cgaEam

3. 3y FueT
4. 3P cgaEAT

Correct Answer :-

o INYAS A&

21) fodt o T | Al enf¥fes aass, unfife ayer, faftm wrars wugl, fafte dwpfaa ik snfaml &t

At ®) 39 AT B Ay $ea &1 afe RAfduyars are 32 #1 a9 $ 91 6 4R | g S0 3R
HI5 1 8 TPaTl HRa A giar & Ty Tt g omT Y A ard @R g 8 1 WIRa W §9TRY HTTY, Sre-
ST W T, SET-3E QRIS 3R e a8 B Tpfa ¢uq o1 firaedt 21

arfore fauTeH &R IeFifa: S & wite faera ¥ Rigia & AR it 9ed five gia1 2 a8t Rigr
ITaT 81 agel Y Rier veA ¥ o enfifes w0 ¥ avadt weet gt 71 onfifes arast @ e ® Sam i e
gl urar 21 3faera A 3R Aes) Ierevu ¢ o onfife wu & Wud e 7 onfife ¥ U | FHwR e W) e
forar | TaT saferd far Smar 31 @ifs THTee ofiR wfd & Bidl WR UHIU®R $1aw 8 G | |rTore fafaear
BT TeIfa o= g 9 el w® AR v 8, ) Fafafea §: 98 59 a9 R flk owar @ /& a st
AP UgaH &1 {59 FU A dd 81 afe @i 3 3y &Y faflRiy a9+ @vre € o) 8 # gmnfore fafauar &t
T U GIRhd g1 1T ¢ | et fadl Tger &t 1l B {6y avg A iR a8 | [Pt agem st uim w
mﬁﬁuﬁrﬁmﬁ%ﬁﬁmaﬁnﬁaﬁﬁaﬂ%ﬁmw%ﬂmﬁﬁﬁw
|

YRT & YT 30t & garfas ot oifa sgawt a1 A 39 AR TS &1 BT & YR IR IR JYg1 H aler
T A1 faelt Y uar 1 ® 6 oot ware # it sgawt B afe g dan & Ty v T ot ar qof
a1 fawRia g3 o 59 919 W ey g % faet safaa &1 o= fora snfa & gan 1 S gwa & uvta
F HRUT AR YR & 3 el TRHR] B IgRaATe ot ot sarad siftre J i anr snyfe Riam &7
BIAST I3[ T | 39S 3rarar Hifgar A ff U # WRewdr A &1 w14 fearl 39 99 9ral 7 Ues g
RN W SIRE s dT e T TR o a1 9% TR 39 31 &1 fird @ &1 U8 39 91d | udT 9adr 8
6 ®< W &g Aa1 IWR B AT M § i) St Sifa b e &1 AT b g) a1 ) e A AR 1 €
A dd BT el Haad BidT 81 TS HIRA H JHS & I g% ¥l 31 ufaf it IReR # @A 1 frean 81
[T g P8 TPd § [P YR I8 A # U didpda 94 8T &

ITYe TR B! USHR AR U Y Y= BT IR 9d13¢|
wH: HEar A qure § 1 Bam &1 S e g2
1. HTHS a1

2. FqTHAT

3. SITRST

4. QAT



Correct Answer :-

22) fodt o T ® At snf¥fe aass, enfife e, faftm urars augl, fafts Twpfaay sk sifaal

et & 39 waTe Ft fafaear wea €1 afe fAfauarsi ard 3z @) a1d $t 9 9 YR A AgaR ISET 3R
B2 T 8 Tl HRA A R F e 1l 7o 4T ) WA aTel T X8a B | HIRd § gOlR) HTSTY, 3refT-
ST G U, SET-SET IR 3R dRE a8 Bl Gpid ¢+ ! fiad 21

T AU SR Ieifa: S1fd & witie fae™ & Rigia & sgaR ot gaw fibe giar g a8t Rigr
9TdT 81 ISl B RieT w8 & ford onfifes wu & arawt st gidl 31 e aRat | THTST | SaT R e
g urar 81 3faerd A ¥R As) Ierevur ¢ o enfiife wu & Tud 7e 7 onfiife T U | FHwR e W) I
a1 YT saferd faran SiraT o1 aife e SR Wfe & Wil W THIIUPR S1aH g G& | JTore fafaerdr
P e W gRome i aral w® R w=ar 8, S Fafafea € 98 59 99 w Ak owar @ & v soeh
TS Uga &1 f5a w0 # dd &1 afE @ 3= 3y ) fafkiy a=A @ § &) 31 ® arnfore fafaear #t
T YT GG g1 a1 § | a1 fad THer ot /il 3 5y 9 S U HRd 7 1 3 aen o w9 w
mﬁﬁuﬁmmﬁlmﬁwﬁmﬁwmﬁmm%ammw
|

YRT & YT 30t & garfae ot oifa saawt a1 A 39 AR TS &1 ST & SR W TR Y1 § dier
T T fhdt ot v 181 3 1% geandt aurer & it syt <t 1 AT awg e & ary v Ut wnfa ar qof
w1 fapRia g3 ot 39 919 W snuTia § 5 [t safea o1 971 forwy winfar o gam 31 e gwa & U
F PRUT MR URA | A FTel IRBRI B IgRard! et ot adtaa if¥re @ it av snyfe Riem &1
BHIGI 3311 @ | 3% 3rarar Wifgar 7 ot gure # SeREwdr bam &1 w19 fHar) 39 99 a1l A fiss gu
AR A SIREwdT M T TH@R B 1| 39 TR 39 31+ &1 fira @ &1 9 39 91d | vdT gad1 8
& o T 49 AT SR T A oM ¥ S S onfy & 9 ¥ ) e b R f B g F g S
Apaa BT 3T Haad gidl 81 3T HRd H JHTS &F T 8% ¥ $1 ufaffe TWeR & ¢ &1 faar g1
I §H ¢ U d ¢ [ HRd g 4191 § U didhdd a9 el e

ST TR F UgHR A1 IR Y U= $T Ik Jarsy|

< afe frelt Tuer &) ui &t G a8F F 9T orar @ o 399 e T 96 82
1. JUHE

2. I

5. gt

4. SERTEA

Correct Answer :-

23) fadt o T ® At snf¥fe aass, enfife e, faftm wrars augl, fafts Twpfaay sk sfaal

et & 39 waTe Ft fafaear vea €1 afe fAfauarsi ard 3z @) a1d $t 9@ 9 YR A AgaR ISE0T 3R
B2 7Y 8 Tl HRA A R F Tt 1l 7o 4T &) WA aTel T X8 B | HIRd § gOlR) HTSTY, 3ref-
ST W T, SET-SET IR 3R aRE a8 Bl Tpid ¢E- ! fiad 21

T AU SR Ieifa: S1fd & witie fae & Rigia & sgar it gaw fbe giar g a8t Rigr
grar 8 | Al &Y fieT 381 & R enffer &0 & aaat o gt 81 onfifer araw! I wuTe ¥ Sar wIE U



gl urar 21 3faerd A 3R Aes) Ierevu ¢ forad onfife wu & Wud e 7 onfife ¥ U | FawR e W) e
forar | TaT saferd far Smar 31 aifs THTee ofiR Wfd & Bidl W UHIU®R $1aw 8 G | | fafaear
T o W gfomy i aral R FR w=ar 8, s FRafafae € 98 59 99 w Ak owar @ & b soeh
ITATRIS UgaH &1 {59 FU A dd 81 afe @l 3 3y &Y fafliy a9+ @vre € o) 8 # gmnfore fafauar &1
T U iR d g1 7T ¢ | el faddl Tger &t 1l B {5y avg § iR a8 | [Pt agem st i w
mwn%ﬁ%ﬁﬁuﬁrma?ﬁélﬁﬁwaﬁnﬁaﬁﬁaﬂ%ﬁmw%a‘rwﬁwﬁﬁw

|

YRT & YT 30t & garfas ot oifa sgawt a1 A 39 AR TS &1 ST & YR IR IR JYg1 H aler
T A1 faelt &Y uar 1 @ o oot ware # St sgawn B afe g dan & Ty v T it ar qof
a1 fawRia g3 o 59 919 W a3 % faht safaa &1 o= fora snfa & gan 31 Siioh gwa & uvta
F HRUN AR YR & 3 el TRBRI B IgRaATe et ot sgrad siftre F i anr snyfe fRiam &7
BIAST I3[ T | 39S Srarar Hifgar A ff U # WRewdr A &1 w14 fearl 39 99 94l 7 Ues g
RN W SIRE s dT e T TR o | 9% TR 39 3T &1 fird 7@ 1 U8 39 91d | udT 9dd1 8
6 ®< WA &g Aa1 IWR B WA M § &) Sl Sfa b e &1 A b g) a1 ) F A AR 1 €
AP dd BT el Haad BIdT 81 3T HIRA A FHIS & T g% ¥l 1 ufaf it TR # @A 1 frean 81
[T g P8 I&d § [P YR I8 A # U didpda 94 8T B

ITYe TR B! USHR IR U Y YR BT IR 9d13¢|

WH: afe ART U 39 Hi fAfRIg 7= @ & ol 1 ek o US 1T 82
1. TEI Tepcm

2. 31 HUeardr

3. GrATTSIh fafaerdar

4, AT Higg

Correct Answer :-

. grAToe fAafayar

24) ot ff Tue # fafi enfife aad, aiftfe Tuern, fafie wrars Te, fafte dwpfaal eiv sfaal @5t

Hieeht &) 39 THTe B Ry $ea &1 afe RAfdyars o 32 #1 a9 $ 91 @ 4R | g S0 3R
HIs 1 8 TPaTl HRa F girar & amye it g w6 A 9T @R g 8 1 WIRe W B9TRY HTTY, Sre-
SIS W U, SET-AET NP 3R G e Bl Tpfa 3@ $i et g1

grTfore AUt 8k Ieifa: 1fda & witie faer & Rigia & sgaR <t gad fbe giar 2 a8t Rigr @
qraT 31 I B foiel e & o onfife 0 & aradt w1 glelt 81 onfie avas! I Jurer § S v ure
gl urar 21 3faerd A 3R A s) Ierevur ¢ orad onfife wu & Wud e 7 onfife ¥ U | FHwR e W) I
forar | TaT sHferd frar Smar o1 @ifes TaTee ofR wifd & Hidl W UHIU®R $1aw 8 G | |rToe fafaear
T Ao W gRomy i ol R FR #=ar 8, s fFafafae € a8 59 99 w Ak owar @ & b soeh
TTHIRNS UgaH &1 f5a FU A dd 81 afe ahT 3= 3y & fafRiy aa @vra € ) 0 # grmnfore fafduar &t
T U GIRbd g1 1T 8 | et faddl ger &t 1l B {6y ave I iR a8 | [Pt agem st uim w
mﬁﬁmﬁ%lmwmﬁmﬁwmﬁmm%ammﬁw
|

YR & U= 30t & garfas ot oifa sgawt a1 A 39 AR TS &1 ST & YR IR IR g1 J aler
a7 o7 fE P uar 1Y 3 6 oo gurer § St syt | Afe gwg fiaq & w1y ve Ut wnfa ar qof
w1 fapRia g3 ot 59 919 WR nuTia § 5 [t safea o1 o171 forr winfar o gam 31 il gowa & g
F HRUT AR YR & 3 aTell BRI B IgRare et ot sqrad siftre J it @t snyfae Riem &t
BIAST 36 T | 39S Srarar Hifgar A ff U # WREwdr A &1 w14 feur| 39 99 954l 7 Ues g



AT H SITRe T Bam & TR $R 3011 9% ufRond 3@ 3 & fira ¥ 1 98 59 91d I udT IadT 8
& o T 499 A1 SR T I oM ¥ S S onfy & 9 ¥ ) e b R f B g F g S
AP dd BT ATl Haad BdT 81 TS HIRA H FHIS & T g3 3 1 ufaf g TR # @4 &1 frean 21
I §H ¢ U d ¢ f HRd T 4191 § U didhdd a9 el e

ST TR F UgHR A1 IR Y U= $T Ik Jarsy|

T ST IR Wfa & Hidl W UPIRIPR & T a1 TP $HER TR AT $3aT 82
1 TR ®

2.3 8T ©

3. fues &

4. T BAT §

Correct Answer :-

o T HIT &

25) it o T ® At snf¥fe aass, enfifer Ty, faftm wrars wugl, fafts Twpfaay sk sfoal

Mot 3 39 wae F fafaear wea €1 afe fafauarsi ard 3z @) a1a $ 9 9 YR A AgaR ISEI0T 3R
HIE T 81 epdTl HRA A T & T 9aft qe 4T ) WA arel @1 I8d & 1 URd § gOlR) WTaTY, 3re-
ST W U, SIET-SE IR 3R dRE a8 B Tpfd ¢+ of et 21

TS fAUTeH SR Torifa: S1fdT & witre fasra & Rigia & srgaR <t Jad fbe glar § a8t Rigr
Trar 8 | Al Y foier 381 & R anffer &0 & aadt o gt 81 onfifer araw! 1 wuTer A Sar v U
g urar 21 3foera A ¥ Awsl Iarevur 3 o snfife wu J wug e 7 onffer U | FUEiR ¢ W A
forar | o safer far Smar 41 aifes TaTeE ofiR Wfdd & Eidl IR UPITUSR $TaH 8 b | AT fafaear
BT I TR g i aral w® R oar 8, s Frafafad §: a8 59 9 w AR o & & @ st
ITHIRIS UgaH &1 {59 U A Ad 81 afe ahT 3= 3y &) faflRiy a=A @vre € &) 0 o grmnfore fafduar «t
T U GRHd §) ST g | ST et agerd $1 7l 31 frd e @ 9% 3vd §1 et ayen S AR w
maﬁﬁuﬁmﬁ%mﬁﬁwaﬁmﬁwmﬁwm%ammw
|

YRA & YT 3 & Garfas ot oifd sgawyt a1 A 39S AR TS &1 ST & AR W IR JYgI J aler
T AT fhY ot war 18 3 % geandt aurer & it et <t AT awg e & ary v Ut wnfa ar qof
w1 fapfia g3 ot 39 919 W snmunia § o [t safea o1 w1 forwr winfar o gam 31 i gwa & U
F PRI R URA | 3 aTelt IRBRI $t IgRAT! ifral ot adtaa i I sifere ai snyfe Rign &1
BTAST 36M @ | 3P 3rarar Hifsar A ff U # SRewar A &1 w14 fear| 37 99 9ral 4 Ues g
AN ¥ ARG T Bam & THR B 60T 39 TR 3« 3@+ &1 fira ¥ €1 98 59 919 | UdT 9adT @
& ®¢ T &t A1 IWR BT A M & &Y St o1 & 1 ¥ | WSl F &) vl ) Fwr § WSy A
AIpd BT RIS Haerd BT 31 3T WRd B AT & T g 7 $1 ufafifica IReR # 3@ &Y fyaar g1
SHIY G $§ TP ¢ [P YR Ul U | U didpad a1 38T 8

ST TR P UgHR H1Y YR T U= $T I} Farsy|

H: TSl 1 foier g9 & o s &0 & am o= ghan @2
1. AdcTd

2. TR

3. R



4. Targ

Correct Answer :-

26) fadt o T ® At snf¥fe aass, enfifer Ty, faftm wrars wugl, fafts Twpfaay sk sfoal

Mot 3 39 waTe F fafaear wea €1 afe fAfauarsi ard 3z @) a1a $ 9 9 YR A AgaR ISE0T 3R
HIE T 81 epdlTl HRA A T & a1 9ol ge 4T ) A aTel @1 I8d & 1 URd § gOlR) WTaTY, 3re-
ST T U, SET-3E IR 3R aRE a8 Bl Tpfd ¢+ ! et 21

TS fAUTeH SR Torifa: S1fdT & witre fasra & Rigia & sgaR <t Jad fbe glar § a8t Rigr
Trar 8 | Al &Y foier 381 & R onffer &0 & aaat o gt 81 onfifer araw! 1 wuTer A Sar v U
g urar 21 3foera A ¥ Awsl Iarevur 3 o snfife wu J wug e 7 onffer U | FUEiR ¢ W A
forar | o safer far Smar 41 aifes TaTee ofR Wfd & Hidl IR UPITUSR $1aH 8 G | T fafaear
BT IS TR TR i aral w® AR oar @, s Frafafad §: a8 59 a9 w AR o @ & @ st
ITHIRS UgaH &1 {59 U A Ad 81 afe ahT 39 3y &) faflRiy a=A @vre € &) 0 o gmnfore fafduar &t
T U GG §) ST g | ST ot agerd $1 7l 31 ford e @ 9% 3vd §1 foedt ayen S AR w
maﬁﬁuﬁmﬁ%mﬁﬁwaﬁmﬁwmﬁwm%ammw
|

YRA & YT Juf & Garfas ot oifd sgawyt a1 A 39S AR TS &1 ST & AR W IR JYgI d gler
T T At ot war 18 3 % oot aurer & it eyt <t AT awg dfia & ary v Ot wnfa ar qof
w1 fapfia g3 ot 39 19 W snmenia @ fr [t safea o1 w11 forwr winfar o gam 31 e gowa & uvra
F PRI R URA | 3T aTelt IRBRI $t IgRAr! feral ot adtaa ¥ I sifere ai snyfe Rign &1
WSl 33M @ | 3P 3rarar Hifsar A ff U # SRewar A &1 w14 fear| 37 99 9ral 3 Ues g
AN § ARG dT e & THR B 60T 396 TR 3« 3@+ &1 fira ¥ €1 98 59 919 | UdT 9adT @
& ®¢ T & A1 IWR BT A M & &Y St o1 & TE ¥ | WSl F &) vl ) Hr § WSt A
AIpd BT RIS Haerd BT 31 3T WRd B AT & T g 7 $1 ufafifica IR o 3@ &Y fyaar g1
$HIY G $§ TP ¢ [P YRd Ul U | U didpad a1 38T 8

IUT TR P UgHR Y IR T U= $T I} Farsy|
UT: R TS § St Gepfa it 22

1. P A

2. THpE

3. Thol
4, IE-ae hr
Correct Answer :-

o dUE-alE P

27) =it o T ® At snf¥fes aass, enfifer Ty, faftm wrars wugl, fafts Twpfaay sk sifoal

Mot 3 39 waTe F fafaear wea €1 afe fafauarsi ard 3z @) a1a $t 9 9 YR A AgaR 3BT 3R
HIE T 81 evdTl YR A AT & 1T 9aft ge 4T &) WA aTel @1 I8d & 1 URd § gOlR) WTOTY, 3re-
ST T T, SET-SE IR 3R dRE a8 Bl Tpid ¢u- ! fiadt 21



TS fAUTeH SR Torifa: S1fdT & witre fasra & Rigia & srgaR ot Jad fbe glar § a8t Rigr
Trar 8 | Al &Y fier 81 & R enfifer &0 & aadt s gl 81 onfifer araw! 1 wuTer A Sar v U
g1 urar 21 3foera A ¥ Awsl Iarevur 3 o snfife wu A wug e 7 onffer U | FUEiR ¢ W A
forar | e safer far Smar 41 aifes TaTeA ofiR Wfdd & Hidl IR UPITUSR $1aH 8 b | AT fafaear
BT IS TR TR i aral w® R oar @, s Frafafad 8 a8 59 9 w AR o & & @ sot
ITHIRIS UgaH &1 {59 FU A dd 81 afe ahT 39 3y 3 fafRiy a=A @vre € &) 01 o gmnfore fafduar &t
T U GRHd 81 ST g | ST ot agerd $1 7l 31 frd e @ 9% $vd §1 foedt ayen S AR w
maﬁﬁuﬁmﬁ%mﬁﬁwaﬁmﬁwmﬁwm%ammw
|

YRd & YT Jui & Garfas ot oifd sgawyt a1 A 39 AR TS &1 ST & AR W IR JYgI J alel
T AT fht ot war 18 3 1% geandt aurer & 3t syawt <t AT awg dfia & ary v Ut wnfa ar qof
T fapfya g3 ot 39 919 W smenia § o [t safea o1 w1 forwy winfar o gam 31 i gowa & U
F PRI R URA | 3T aTelt IRBRI $t IgRar! ifral ot adtaa i I sifere ai snyfe Rign &1
BTAST 33M @ | 3P 3rarar Hifsar A ff U # SRewar A &1 w14 fear| 37 99 9ral 3 Ues g
AN § ARG dT e & THR B 60T 39F TR 3« ¢@- &1 fira ¥ €1 98 59 919 | UdT 9adT @
& ®¢ ¥ &t A1 IWR BT A I € &Y St o1 & TEY ¥ | WSl F &) vl ) Hwr § WSt S
AIpd BT RIS Haerd BT 31 3T WRd § AT & T g 7 $1 ufafifiica IReR o 3@ &Y faar g1
$HIY G $§ TP ¢ [P YR Ul U | U didpad a1 38T 8

IUa TR P UgHR 1Y YR Y U= $T I} qarsy|

WR: URA & YT J4f & gariad Si-3t a1 s+t 82
1. TogqEAT

2. UTHEG cFeaedT

3. 3rcgaeAr

4. Sfa cggEan

Correct Answer :-

o SIS cTgEAT

28) fadt off wurer ® At snf¥fe aads, enfifer e, faftm wrars wugl, fafts Twpfaay sk snfeal

Mepeft & 30 ware 3t fafyuar wga €1 afe ffaeasi ar 3w 3t a1 Ft 9@ @ YR A g ITEI0T 3R
HIE T 81 ebdTl HRA A AT & Tt 9ol gReT 4T ) WA arel @1 I8d & 1 HIRd § gOlR) WTaTY, 3re-
ST W UM, SHET-3E NP 3R aRE a¥e P! Tpfa 3@ &) fAradt 31

TS fauTe SR Torifa: S1fdT & it faera & Rigia & SgaR ot 99w fbe glar @ a8t Rigr @
Trar 8 1 7wl Y foier 381 & R enffer &0 & aadt o gt 81 enfifer araw! 1 e A Sar v U
g urar 21 3faera A ¥ Awsl Iarevur 8 Formd snfife wu A wug e 7 anffer U | Uik ¢ W) IR
forar | Tar safer frar Smar 31 aif THTee SfiR WIfdd & Bidl W UHIfUaR $1aw 8 Gd | graTre fafaear
BT I R TR i Tl w® R oar 8, s Frafafad 8 a8 59 a9 w AR owar @ & @ sot
RIS Uga &1 f5a ©u & dd &1 afE @ 3= 3y &) fafkiy a=a @ & &) 31 # arnfre fafaear #t
T U GiREd §) SraT 8 | et e ayera 3t 1 3 5 e 0w avd ¥ 5l aem S e w
mﬁﬁmﬁélmmwﬁmﬁwmﬁmm%?ﬁmmﬁw
|

YRT & YT 3 & Garfas ot oifd sgawyt a1 A 39S AR TS &1 $1d & ATYR W IR JYgI J aler
a1 7| fheft o var A8 ® fp e Tuer # HAt et N1 AfFT Ty fiam F 91y v R whfa ar qof
a1 fawfa g3 ot 59 a1 W snuta @ % foelt safea 1 o1 fpw wify o g 81 Sl gpwa & wura



F HRUN AR YR & A ATl TRBRI B IgRATS e ot ggrerd ifis J e anr snyfe fRigm &t
BTAST I3[ T | 39S 3rarar Hifgar A ff U # SRewdr A &1 w1 fearl 39 99 9l 7 Ues g
T H SITRedT BaT &1 9H@R $R 3011 39 URRund 3@ 3@ $! fid 7@ §1 98 59 91d I udT IadT1 @
fr $¢ T &1 391 IHR F A M & St Sl SIfd F 78T &1 FHTS P g 91 B I4T H ISR T &)
AP ad BT el Haad BIaT 81 3T HIRA H FHS & T g% ¥ 1 ufaf it WReR # @A 1 frean 81
[T g #E YPd § [P YR I8 AraA # U didpda 94 8T B

ST TR $I USH -1 T Y Y= T I«ik qarse|

R: URd ® girar & @y @it g anf &t A ara i IEd 7
1. 9ca

2. fAY®

3. 319
4, q@rIe

Correct Answer :-

29) fadt W T ® faftra enf¥fes aass, unfife ayer, fafte wrars augl, fafte dwpfaa ik snfal @t

At &) 39 AT B Ay $ea &1 afe RAfduyars are 32 #1 a9 $ 91 6 4R | g S0 3R
HI5 1 8 TPaTl HRa A giar & Ty Tt g omT B A ard @R g 8 1 WIRa W §9TRY HTTY, Sre-
ST W T, SET-3E QRIS 3R e a8 B Tpfa ¢uq o1 firaedt 21

Ao fauTeH &R IeFifa: S & wite faera ¥ Riga & AR ot e five gia1 2 a8t Rigr
ITaT 81 agel Y Rier w8 ¥ o enfifes w0 ¥ avadt weet gt 71 onfifer arast @ e ® Sam = e
gl urar 21 3faerd A 3R AFs) Ierevu ¢ o onfife U & wud e 7 onfife ¥ U | FawR e W) e
forar | TaT sHferd far Smar 31 aif TaTee ofiR wfd & Bidl W UHIfUeR $1aw 8 G& | | fafaear
BT TeIfa o= gRom 9 el w® AR v 8, ) Fafafaa §: 98 59 a9 R flk owar @ 7% a st
ITATRS UgaH &1 {59 FU A dd 81 afe @l 3 3y &) fafliy a9+ @vre € o) 3 # gmnfore fafauar &1
T U GiRhd g1 7T ¢ | el fadl Tger &t 1l B {6y avg § iR a8 | [Pt aem st i w
mﬁﬁuﬁrﬁmﬁ%ﬁﬁmaﬁnﬁaﬁﬁaﬂ%ﬁmw%ﬂmﬁﬁﬁw
|

YRT & YT 30t & garfas ot oifa sgawt a1 A 39 SaR TS &1 ST & YR IR IR JYg1 H aler
T A1 faelt &t var 1 @ o oot ware # it sgawn B afe g dan & Ty v Tt ar qof
ariT fawRia g3 o 59 919 W smefd g % faet safaa &1 o= fora snfa & gan 1 Siioh gwa &yt
F HRUT AR YR & 3 el TRHRI B IgRaATe ot ot sarad sif¥re J e anr snyfe fRiam &7
BIAST I3[ T | 39S 3rarar Hifgar A ff U # WRewdr A &1 w1 fear| 39 99 96l 7 Ues g
RN H SIRE s dT e T TH@R o a1 9% TR 39 31 &1 fird 7@ &1 U8 39 91d | udT 9ad1 8
6 ®< WA &g Aa1 IWR B AT M § &) Sl Sfa b e &1 A b g) a1 ) Fe A ArEgR) 1 €
AP dd BT el Haad BidT 81 3T HIRA A JHS & T g% 3l 31 ufaf it IReR # @A 1 frean 81
[T g P8 TPd § [P YR I8 A # U didpda 94 8T &

ITYe TR B! USHR AR U Y Y= BT IR 9d13¢|
WH: HRA |l A1 | 941 91 T8T 82

1. Th Tl

2. Th b



3. T 3YaT
4, Th YAdT

Correct Answer :-

o TP Alhdd

30) fHt Wt gure A faft enfife aads, arftfe Tyer, fafire yrars TueEl, faftm dwpfoal eiv snfaat @t

Meyeft & 30 ware 3t fafyuar wga €1 afe fafdeasi ar 3w 3t 19 Ft 9@ @ YR A g ITEI0T 3R
H1E T 81 FevdTl HRA A T & a1t 9ol qReT 4T ) WA arel N1 I8d & 1 HIRd § gOlR) WTOTY, 3re-
ST W UM, SHET-3E NP 3R aRE a¥e P! Tpfa 3@ ) et 31

TS fauTe SR Torifa: S1fdT & witre fasra & Rigia & sgaR ot 999 fbe glar @ a8t Rigr @
Trar 8 1 7wl Y foier 381 & i onffer &0 & aadt o gt 81 onfifer araw! 1 wuTer A Sar v U
g urar 21 3faera A ¥ Awsl Iarevur 8 o snfife wu  wug e 7 anffer U | Uik ¢ W) IR
forar | TaT safer frar Smar 31 aif THTee SfiR WIfdd & Widl W UHIIU®R $1aw 8t Gd | JraTore fafaear
BT I R TR i aral w® R owar @, s Frafafad 8 a8 59 a9 w AR owar @ & @ sot
RIS Uga &1 f$a w0 & dd &1 afE @ 3= 3y &) fafkiy a=a @1 § &) 31 # arnfore fafaear #t
T U GiREd §) SiaT 8 | et e ayera 3w 3 5 e 0w vd §1 i aem S e w
mﬁﬁmﬁélmmwﬁmﬁwmﬁmm%?ﬁmmﬁw
|

YRT & YT Jf & Garfas ot oifd sgawyt a1 A 39 AR TS &1 ST & YR W IR JYgI J aler
a1 7| feft o var 8 @ fp e Turer # HAt et 01 AfFT gug Siam F 91y v R wifa ar qof
a1 fawfa g ot 59 a1 W snuta @ % foolt safea 1 o1 fopw wify & g 81 Sl gpwa & wuma
F PRI R URA | 3T aTelt IRBRI Ft IgRard! ifal ot adtaa it 3 siftre a1 snyfe Rign &1
BRI 3T @ | 3% Sraral Hifgar 7 ot wure ¥ Srewdr bam &1 w19 fBar1 397 99 916l A fiss gu
AR A SIREwdT M T TH@R o Tl 9% U 3e WA &1 fird @ &1 U8 39 91d | vdT gddr 8
F $% T &9 A1 SR T I oM ¥ S S onfy F 798 ¥ v b w o B v F g S
AP BT 3RS HaAd gidT 81 3T HRd H JHTS P T 8% & P Ul WeHR # ¢ $! faar g1
3T 9 ®g Tohd ¢ fb URd T8l arq o U didds 94 ¥eT 8

ST TR F UgHR A2 IR Y U= $T Ik Farsy|
w: fafauarsii ara 3=1 & freTel & WRa &1 R | 82
1. gfean

2. 3r|Ed

3. ATAE

4. B

Correct Answer :-

Topic:- General Urdu(L2GU)
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Topic:- Social Science (SSC)

1) “A project is a whole hearted purposeful activity, proceeding in a social environment”. This was
quoted by: / "U® URUISHI YUl & & TP Se=aqul Tfafafd gidt 3, St v ArHifore arararor # S ggdt
?1" U5 3T gIRT Igyd faan T o

1. William Kilpatrick / fafergar forerdfes

2. John Dewey / it grdr

3. John V. Michael / Sfa &Y. ATsHhd
4, Stevenson / Trd=a=1

Correct Answer :-

« William Kilpatrick / faferaer fredfees



2) Constructivism as new philosophical approach for curriculum designing focuses on: / UTGdshH

fEemefin ¥ R v gnefffe RS S Tud W@ W wF $fea srar 2l
1. Intrinsic motivation of the subject/ fawa &1 AR 3fAUROT

2. Delayed punitive mechanism / faeifdd gsicae yomelr

3. Extrinsic motivation of the learner , fUaff hr arer fAvRoT

4. Immediate reinforcements / dchldl ﬂ%élaﬂlﬂl

Correct Answer :-

« Intrinsic motivation of the subject/ AW &I HTARE HIFYION

3) Which learning is interdisciplinary and focuses on active, student-directed learning providing
students an authentic, real-world context for learning? / P19 9T 3, 3id:fawg g 3k Afba, B=-
R R W s Siga Fvar g, o o &1 die & e ue ymnivres, arsfas givan &1 e
we farar wrar 82

1. Experimental / JTa3Th

2. Curriculum Based / GrodshH 3maTiRd

3. Project Based / URIATSTAT WX 3TUTRA

4. Rote Learning / Y& 3T

Correct Answer :-

« Project Based / URATSAT TR 3TTRA

4) Which among the following is an example for institutional credit? / fFafafea # @ 19 91 IR
WG ¥ AT U IR0 22

1. Moneylenders / HIghR

2. Primary Agricultural Credit Societies / UTUfd® Tfﬁf arg afafaar
3. Traders / SITURY

4. Landlords / STHIGR

Correct Answer :-
« Primary Agricultural Credit Societies / JTIfH® ?gifr arg gfAfaar

%) Which is not a quality of an evaluation tool? / 4 ¥ & FIT T& Yei®H SUDHRUI BI TP Ura< I8!
?



1. Validity / d&rar
2. Practicability / cITa@TRehd

3. Objectivity / fasgerar
4. Subjectivity / SIThUIhdT

Correct Answer :-

« Subjectivity / ST Thuehdr

Match the following :

1. Poona Pact A, 1925
2. Rashtriya Swayam Sevak Sangh | B.1931
3

. Simen Commission ¢.1932

. Gandhi Irwin Pact . 1927

o

| EATATET W A ST

1. g7 FAST A.1925
2. T~E T daw | B. 1931
3. WS TR C.1932
4. areN-syEe wesiar | D. 1927

1. 1-A,2-B,3-C,4-D
2. 1-C,2-A,3-D,4-B
3. 1-C,2-A,3-B,4-D
4. 1-D,2-C,3-B,4-A
Correct Answer :-
« 1-C,2-A,3-D,4-B

7) Thin vertical and horizontal magnetic intrusions in the country rocks are known as which of the

following? / 3=1 ¥t TgMI § yaeht SHeafer o &fow gawta 98 A ¥ & @1 weandt 82
1. Lava / ©rdr

2. Locolith / oifor



3. Plutonic rock / Tefelfeieh =eere
4, Dyke and Sill / 313& 3R &

Correct Answer :-

 Dyke and Sill / 33&® 3R e

8) The method which provides a certain degree of reality and concreteness to a learning situation is

known as: / ag faf¥r S aiftrTe fRufa 3 arafawar o R[@ar ueM $Redt 8, 3 A= we1 wrar 8:

1. Lecture-Discussion / SREHAH-TT

2. Field trips / &9 g3

3. Dramatization / =TI FUTAX
4. Demonstration / Y&

Correct Answer :-

« Dramatization / =TehIT FUTAT

9) Who among the following started the Home Rule Movement in India? / 3R H A &
ietere farafaf@a & & frad garr 4 fhar = an

1. Annie Besant / THI sdc
2. B.R.Ambedkar / &1. 31X, 3

3. Jawaharlal Nehru / ST ool o-\le&\
4. Subhas Chandra Bose / g dg a1

Correct Answer :-

e Annie Besant / Q:ﬂa@'c’

10) Who was the famous Bhakti saint who belonged to the royal family of Mewar? / &leT
gy #fFa @a & N A9z F R INER F dreds @ B

1. Meerabai / HRTETS

2. Chaitanya / Sk

3. Tukaram / JPRTHA
4. Andal / 3ol



Correct Answer :-

« Meerabai / ARTETS

11) Who was the first surveyor of archaeological Survey of India during British rule? / fafeer
AT & SRIT HRAT Icled FARTT FT Tgell FI&TOTHaAT HieT T2

1. Alexander Cunningham / 3Teldraia] i
2. James prince / SIH 53]

3. James Fergusson / &g qﬁ?t\q?-f

4. Dayanand Sahni / TG, ATeaT

Correct Answer :-

« Alexander Cunningham / 3Teldaiay dhfdas

12) Who founded the Swaraj Party in 1923? / 1923 § TaT el i 9T fFaar 62

1. Motilal Nehru and C. R. Das / #IdT ool dg® 3R &Y. 3}, e

2. Gandhiji and Jawahar Lal Nehru / amefsh 3R A T de®
3. Subhash Chandra Bose / gHTY T% a9

4. Sarojini Naidu / IRISH! AIg

Correct Answer :-

« Motilal Nehru and C. R. Das / AYdl oIl ?@_5 AR A IR, e

13) Who is the exponent of Jurisprudential Inquiry Model? / fafeamey @l sirg Alsa &
yfaues =l 82

1. Bill Gordon / T a1ige

2. Richer Suchman / R=R ga&d
3. James Shaver / JFH @

4, Hilda Taba / TeosT drar

Correct Answer :-

« James Shaver / &g AR



14) Who was first elected to the British House of Commons? / fafeer g39 316 FiA-H &
foT ged gger R AT =T A9m?

1. Jawahar Lal Nehru / STdTeY ool &

2. Mahatma Gandhi / AGIcHT e
3. M. G. Ranade / TH.ST. TATS

4, Dadabhai Naroji / m‘-ﬂ_sc AR

Correct Answer :-
« Dadabhai Naroji / 3|a|‘3-|'|_5C RSN
15) Capital of Ancient kingdom of Avanti was: / 3adl & Yrdled WHTST T T=rar=r oY

1. Vallabhi / deoTdfY

2. Pataliputra / ‘J'IE'%IH—:T

3. Vidisa / fafeem
4, Ujjain / Soold

Correct Answer :-

« Ujjain / Ioold

16) For what action in Freedom Movement is Usha Mehta known? / EadddT areT & &FH
s & AT 39 Agar A ST &2

1. Participating in Round Table Conference / MRS T | U a4 & ]%Itf

2. Running a secret Radio during Quit India Movement / HRd @?ﬁ eI & SR Th THB\’%TIBI ENIR]
3. Captain in Azad Hind Fauz / 31ToTS g &N & ®@H 994 & forg

4. Captain in Indian National Army / R TS 1 H B

Correct Answer :-

» Running a secret Radio during Quit India Movement / HRd @?ﬁ i & SR T T?ﬁ‘%ﬁf ENIR]

17) The famous woman ruler of Ahmad Nagar, Chand Bibi fought against which dynasty? /
AR gfgy Afger arw T it F FH g F R@aATw 731§ a9



1. Mughal / &aTel
2. Adilshahis of Bijapur / fSlqT & 3nfeeramer

3. Afghan / 3T%dTTeT
4. Nizamshahi of Hyderabad / $e1dTG & TASITHRMRT

Correct Answer :-

« Mughal / HITel

18) The coin Rupiya was first issued which ruler? / $9aT f&a®T ¥ad@ Tgo FH s o I
forar am?

1. Humayun / g?i'l?{

2. Babur / dTaX

3. Sher Shah / QR QMT&
4, Akbar / 3ThaX

Correct Answer :-

« Sher Shah / AT QA&

19) The cardinal objective of setting up a Social Science laboratory in the school is to: /

feared & aenfas feme gahrerer safda & &1 995@ 3527 §:

1. Preserve and transmit the art and artifacts to the future generations / @ell 3R freugpiadl &t

2. Create an artificial environment for recreational activities of students / Sl &I AR SIh hAThTar
& foIw U HTFA ardrearor a1

3. Extend additional space for group activities and project works / &g fhareemal 3k aRkierar
&l & forw ARk wae &

4, Translate the theoretical postulates in to concrete experiences / a@m YRS BT 3
YAl T 3dTG HRAT
Correct Answer :-

« Translate the theoretical postulates in to concrete experiences / ﬁaﬁ%@ YRS BT 3
YAl T 3dTG HRAT



20) Two or more people learn or attempting to learn something together is known as: / gr aT

T ot e w1y Fo @ed § 1 dwS 7w w19 F, 59 e wer e @
1. Learning by observation / 3{deilehed gRT 3QITH

2. Learning by doing / fopareferes 31fara

3. Collaborative learning / ddfesd FTAITH

4. Team Teaching / geirar fRuayor

Correct Answer :-

« Collaborative learning / d#fesd A

21) Which one of the following is not included as a function of Summative Evaluation? /

fmafaf@a & @ Fr dneas FearFa & oF F F T H aifde 7@ 82
1. Promoting / Uicded

2. Selecting / IIA

3. Diagnosing / fagret

4. Crediting / &g a1

Correct Answer :-

« Diagnosing / fag

22) Which is associated with Sufi Saints? / I ®T A Fal F FafAaT 872
1. Sangha / @€

2. Mandapa / #34r

3. Synagogue / TTIATITIoT

4. Kanjah / &sTT

Correct Answer :-

. Kanjah / &3

23) Which of the following is not a basic principle of Project method? / A=ifaf@a & & Far
R faftr 1 vw 7@ R 748 872

1. Validity / d&ar



2. Activity / Jrfafafer
3. Utility / 3g3farar
4. Purpose / 32"

Correct Answer :-

o Validity / d4ar

24) Which of the following is the process of pinpointing the learning difficulty of a learner of a
learned material and to suggest remedial measures? / fAFfaf@d # ¥ F41 HE § a7 & &
ﬁmﬁﬁmﬁﬁmﬁqummaﬁtmmmmaﬁaﬁm%?

1. Projective technique / &Y ddheileh

2. Norm-referenced testing / #Tidh T ioTd UIIETOT
3. Diagnostic testing / @Ifad TdiaTor

4. Criterion-referenced testing / G Teidd fafar

Correct Answer :-

« Diagnostic testing / sigTfeleh TIT&TOT

25) Which of following steps is not involved in Inquiry Method? / &-are fafer & sl @r =vor
anfaer ¢t 82

1. Encounter with the problem / HHTIT I HIHAT hIAl
2. Formulating an explanation / T FTETAIUT AR AT
3. Data collection and verification / @< HIE 3R Fama=

4. Classification and consensus / @9ffepioT 3R FdTFATA

Correct Answer :-

« Classification and consensus / g3ffertor 3R FI@FATa

26) Which among the following is not a technique for ensuring reliability of a tool? / fAFafaf@a
# F 71 Frawegar 1 gARad 1 At awedid T61 8?2

1. Odd-even method / & fawa fafe

2. Split-half method / faaaaryy fafe (ﬁCI?—I\T{—%'T'CF AYT)



3. Test-retest method / TIr&ToT g?-r:-fo&TUT Tt
4. Criterion-referenced method / #Aldes Tefda RIfY (FreseRua-Reiss Avs)

Correct Answer :-

« Criterion-referenced method / #AFEs Tefdd ATY (FrEecRaa-Rwizs AYs)

27) Assessing social relationship among members in a social group is termed as:

| TF WHATSF WAg # WeEd & fiT Ao waul F e # AT wer S ¥
1. Projective technique / &Y deheilch

2. Case study / &g ¥3r

3. Sociometry / GHATSATAT

4. Observation / 3fdcilchel

Correct Answer :-

« Sociometry / HATSATHAT

28) What was the approximate share of industry in GDP in 2015-16 in India? / 2015-16 ¥ #Rd & el
W 3crg (SEd) F 3T #1 R frae wfaere ar

1. 43%
2.31%
3.29%

4. 18%

Correct Answer :-

29) Gandhian Plan was advocated by ./ arefardl I FT FANT *
carT fRar arar am

1. M. N. Roy / ATTAGATY I
2. Jayaprakash Narayan / STIUDhIA ARTIOT

3. Narayan Agarwal / ARTIOT 3{IdTel

4. Jawaharlal Nehru / STdT&JelTel r\|€»<'\



Correct Answer :-

e Narayan Agarwal / ARTIUT 3IdTel

30) National Forest Commission was established in the year ./ TSET qoT HTART Y FATIAT
s # g& o

1. 2003
2. 2005
3.2002

4. 2004

Correct Answer :-
e 2003

31) In which city was the first Automated Teller Machine (ATM) installed? / TIH
HTAARE S AT (Faenfara ot #eller) (wdiver) fre ereT & T &Y a$ o4

1. Chennai / d=T8
2. Delhi / fGeelt

3. Calcutta / hefchdl

4. Mumbai / HI$

Correct Answer :-

« Mumbai / {$

32) Which of the following factor is not the geography factors influencing population distribution? /
farafaf@a & & Fla-u1 FRF Taaear FaRor # gonfad FA aren T FRE A6 82

1. Soil / e

2. Water / Orail

3. Climate / Sfefdrg
4, Industrialization / e

Correct Answer :-

o Industrialization / 3NeNiiBT



33) FAO stands for ./ TEE3 FT g wq J
1. Food Aid Organisation / |3 U Tflhe] 3-TI"ﬁF|13TrT A
2. Food and Agricultural Organisation / %8 U8 Udfihed’ PTG

3. Federation for Agricultural Output / P BT TIfhoR 315¢Yce

4. Federation for Agricultural Off take / H&IRTT HR TfiheR 3ATH <h

Correct Answer :-
« Food and Agricultural Organisation / %3 Ug TifidhedR PSR

34) politics is based on the idea that religion is the principal basis of social community. /

_ oy 5 ReR W amaila § R o aenfes wee #1 S 3w 3
1. Regional / 8131

2. Communal / GTYGTAH

3. Local / €U

4. Social / ATATTS®

Correct Answer :-

o Communal / GTUETA$

35) Who said that, ‘As far as the nature of legislature is concerned it is such that there are restrictions
only so far as procedure is concerned. But in substance there are no restrictions, no limitations on the
sovereignty of the legislature or parliament.’ / Fas Fer &, ’Glﬁ d& QR Y qﬁ_?ﬁ' FT Y %‘,
o yfaeer $ae 9fhar & dest 7 ¢, A aafasar & R a1 dw@e  q9sEr /W FE
yfaser aidt §, F15 daw gt &)

1. Acharya Kripalani / 3T PUTeAT

2. Purnima Banerjee / QfOTAT deTail

3. N.V.Gadgil / 1. d@Y.amsfarer
4. Durgabai Deshmukh / g"'ﬁil'lé' é(QI?I@

Correct Answer :-

+ N.V.Gadgil / Ta.d1.amsfrer

36) Who can confer civil and military awards on individuals for their services and achievements? /

Fanat 3R st F v afFaat # aeie sk =1 R Fi9 gae w1 awa



1. President / rgufa
2. Prime Minister / TTTHA
3. Cabinet Minister / hfaae #FH

4. Chief Justice / &I =TT

Correct Answer :-

e President / TI'E'CI'%

37) Who was the first social scientist to make a systematic study of bureaucracy and described it as
rational and the most efficient form of organisation? / mﬂﬁ FT IITYT JeTIA FI ard 3T
58 THEIa AR WIS F HEH FAG T T AT TgA EANSF defAd HieT 42

1. Karl Marx / &Te HIRY
2. F. W. Taylor / U%. 3¢, ¢oR
3. F. W. Riggs / U%. 3eeg, o
4. Max Weber / Ao qsR

Correct Answer :-

e Max Weber / ﬁ?ﬁré‘ﬂ

38) Who was the first Chairman of Planning Commission of independent India? / Tads #Rd & Irsi=lT
AT & qgo HegaT FieT A2

1. Morarji Desai / ARG HTS

2. Lal Bahadur Shastri / oITel dgTgy MET

3. Pandit Jawaharlal Nehru / Uf3d STl dg®

4. Dr. Rajendra Prasad / 3f. (oleg, 941G

Correct Answer :-

« Pandit Jawaharlal Nehru / Uf3d STaTelelTd dg®

39) Who is the founder of Bhartiya Jana Sangh? / TRAT S<THY & HEAYH Hid §?
1. Gopal Krishna Gokhale / 90TeT SHTUT IN@el

2. Shivaram Rajguru / TraRTH RIS LIRS

3. Shyam Prasad Mukherjee / IUTH UdHIG ﬁ'@?ﬁ



4. Sukhdev Thapar / ﬂ@ﬂﬂ' Doy

Correct Answer :-
o Shyam Prasad Mukherjee / UTH UHIG QI@Gﬁ'

40) Who will officiate as President till the new President is elected in case the office falls vacant and the
Vice-President is not available? / Tsgufd FATIT & Rad gt 3R IWrseufd & 3uasy A8 @1 &Y
feufa # av usgufa & AT @ a& useufa & w0 # wla F1F FEm?

1. President Secretary / ITgUfd dfa
2. Prime Minister / TTTHAT
3. Executive Secretary / TR IRIa

4. Chief Justice / &I AT

Correct Answer :-
« Chief Justice / &I =TT

41) The monetary assistance provided by the government for encouraging the production in an economy
.| FIITEAT # 3eUEA F WewIRd A F AT @R @R & 7 AlfgE weEar
______®

1. Tariffs / U%[eeh (ER®)
2. Subsidy / TTHEIAT (Hfews))
3. Quotas / BIeT

4. Embargo / SITUR Ui
Correct Answer :-

« Subsidy / TSI (GfHs)

42) When was the National Rural Livelihood Mission launched? / I retor 3msifasr fAersr &«
Y& o arm an?

1. 2001
2.2010
3. 2002

4. 2011



Correct Answer :-

» 2011

43) “Explain the concept of Forests” — this question helps us to know the achievement of which of the
following objectives? / "dail Y HTURON H ATEAT FLI" - Ig T g Aeafa@a & ¥ Fx
3682 N YA STt H HEG FAT 87

1. Skill / sierer
2. Creating / golel hie
3. Analysis / fa&wor

4. Understanding / 9H

Correct Answer :-

e Understanding / JHS

44) The Golden Age of the Guptas is said to be the reign of which ruler among the following? /

frrafaf@a F & frw amas & araaTFTe FY qal FT EGOT I FET AT 82

1. Skandagupta / WT'IH
2. Chandragupta Il / Jegd[d |l

3. Chandragupta | / deqd[d |

4. Kumaragupta / $ARIY

Correct Answer :-

 Chandragupta ll / Jegd[d ||

45) Who was the founder of the Holkar Dynasty? / BId®? IS & YRITYPH B A?
1. Bana Misra /aTUT&P}IT

2. Malhar Rao / HegR Y4

3. Baji Rao / §TSil X1

4. Madhav Peshwa / HIYUd EIG)|

Correct Answer :-

e Malhar Rao [/ HegR X4



46) The 110 km long Actual Ground Position Line (AGPL), which has been a thorny issue between India and
Pakistan is located near which among the following? / 110 fFal#Hiex ol areafa®w a3z NfSereT B
(eshdieen), St 9Ra 3R TifrearT & fiw sRRe A w1 8, Al & @ fFed Tee Rua &

1. Shakshgam / T&IITH
2. Siachen Glacier / FaTRIT ToIf=R
3. Sir Creek / O hIh

4, Srinagar / HIIR

Correct Answer :-

« Siachen Glacier / RaTRIT TfRR

47) Which of the following organisations brings out independent reports on the violation of human rights all

overtheworld?/mﬁ#ﬁﬂ-mmq‘ﬁmﬁmﬂa?mwmm
AT 82

1. UNESCO / ge&ht
2. Amnesty International / To1€e] ScIARITel

3. International Humanitarian Law / 3icRRTEIT AT Plelel
4. UNDP / JuaAsId

Correct Answer :-
« Amnesty International / TFIE<] SeIARIT

48) Which of the following is not a type of Urban Local Government? / fAmfaf@a & ¥ sia @t & =R
& el T WER AET 8?2

1. Zilla Parishad / fSrelm oRug
2. Notified Area Committee / JTAFAIT &7 AT
3. Cantonment Board / ©Td=l dis

4, Town Area Committee / PEIT &F TTATT

Correct Answer :-

e Zilla Parishad / fSTelT uRue



1. Experimental research / UTa3Teh 3f]aeme
2. Quasi experimental research / 34 U IgaUT

3. Historical research / UTaerias H?:BZTUI?-T

4. Phenomenological research / GaATIa=I 3gHUTA

Correct Answer :-
« Historical research / ¥faerias 3-171”\'?‘111?[
50) What is not true about Hasan Gangu Bahmani? / gd4d Tl'l]ﬁ?TFﬂ & IR A |1 I qﬁ%’-’

1. His kingdom stretched from the Arabian Sea to the Bay of Bengal, included the whole of
Deccan up to the river Krishna with its capital at Gulbarga. / 3d®T I=d 3RT AR 4

GIMTeT Y WSt e e AT, fTEA et F 3R TAUrR & @Y HOT A Th QU
e BiFAfad ol

2. He was a Turkish officer of Devagiri. / & ¢afdl & Ueh el 3BT A

3. Hasan Gangu Bahmani was the founder of Bahmani Kingdom. / &8 9] dgHel, TgHA!
AT & TEATH |

4. He founded the empire in 1437. / 3egld 1437 # TIHGT I TATGAT FHT|

Correct Answer :-

« He founded the empire in 1437. / 3ol 1437 H TATHAST I TATGAT FHT|

51) Which among the following organization is the best example of an agreement between

Oligopolists? / FATIfET W & H1-91 W6+ SeuTiaR (SMfermuifiRes) & dia te
TN BT T ST IGTET 82

1. GATT / Shudrér
2. OPEC / 3Ndig&T
3. WTO / eI
4. WEF / 3ecgsU®h

Correct Answer :-

« OPEC / 3NdisdT



Which one of the following ocean currents does not occur in the Atlantic Ocean? / fafafaa o

q HI-W HEERR YRT Sedifed AR & 761 gidl o2
1. Peru current / 0% 4RT

2. Canary current / PART URT

3. Gulf stream / ITeh TCIH

4. Brazil current / SlTaitel 4RI

Correct Answer :-

o Peru current / UF URT

53) In which State of India is the Ranthambore Tiger Reserve located? / TUTYHR CIg'R frord

HRA & foa T=a & R 32

1. Uttar Pradesh / 3TR UcxI

2. Madhya Pradesh / #¢T Uear

3. Himachal Pradesh / fedmaor ueer
4, Rajasthan / TaTEA=

Correct Answer :-

« Rajasthan / &A=

54) When is 'National Education Day' celebrated in educational institutions at all levels across the

country? / &2 3R H Tt TR W A Feys A wHT Qe @ w9 A« SAMAr g2
1. 151 September / 15 TdFR

2. 12" October/ 12 3/FgaR

3. 14™ November / 14 FaeR

4. 11" November / 11 FdaR

Correct Answer :-

o 11" November / 11 AR

55) Which among the following is a wildlife trade monitoring network? / fA=afaf@a & & sia @r
TF ool AR R sea® 872



1. TRAFFIC / ¢fpa
2. UN-HABITAT / Jud-gdree
3. PETA / Uer

4.DISS / 28

Correct Answer :-

« TRAFFIC / ¢fthan

56) Which year British transferred the capital of India from Calcutta to Delhi? / fF@ a¥ & fafeer
HRT T TTYUT Foarhal A Eedl TITART $r ot ?

1. 1912
2. 1930
3.1911
4. 1900

Correct Answer :-

e« 1911

57) The pointer or arrow of the magnetized needle of a compass indicates which among the
following? / & RFqa® (F+urw) i Jafra g$ F ga+ a1 dR Awafaf@a & @ Fa
st &ar &2

1. Geomagnetic North Pole / 3@’@!’6&? A qda
2. Geographic North Pole / Hldniferes sadr qa
3. Magnetic North Pole / qazﬁ'er L qda

4. Magnetic South Pole / gazﬁ'a giaof qa

Correct Answer :-

- Magnetic South Pole / b1 EfaTof §a

58) Which type of weathering is caused by Ice Crystal growth? / fg#r &t #1 ¥agfer (3msw@
frea YY) & [FFE F FROT FF TR F (97T ar 82

1. Cavernous Weathering / haeid 31087

2. Biological Weathering / Sifae 3aatr



3. Chemical Weathering / TRII{A% 37087

4. Physical Weathering / #ifde s

Correct Answer :-

« Physical Weathering / #ifd® 3maa

59) Bessemer process has been used in which of the following industries? / QAT UfHAT &1
g fAafaf@a 7 @ e sehr & faar o &2

1. Fertilizers / 3dIh

2. Aluminum / TegH g

3. Steel / SEATA
4. Coal /aﬂu?-n

Correct Answer :-

. Steel / SEUTT

60) The Siberian Crane, an endangered migratory bird is a regular visitor of which of the following

national park/bird sanctuaries? / FEARIAT Fel, Th Feawra yardt gaft fearfaf@a & @ frwr
T 3eFE/aE IrARYT 1 fAafda smigs 82

1. Vedanthangal bird sanctuary / deleddTel U HIRTY
2. Keoladeo national park / dhadlicd IET AT
3. Ranganathittu bird sanctuary / TTATTACE UET JHIRTY

4. Sultanpur bird sanctuary / gedleIq el HHIRTY

Correct Answer :-

« Keoladeo national park / hdeicd TET 34T



